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L
1. Evaluate. = Z -
— 22

—~(()*
T ~(e) =

(-5 3
/‘/
ID: Quick Check R.4.7 . e

2. Evaluate the expression. <7/— 2w (/ - 3) -~ ([7(- V"JD,{ ) ) \1
4+2+(10-3) (7172’( —7) = ——
4+2-(10-3)= & F /¥ <

Answer: 18 (7? —_’_\)

ID: R.4.43

S —_—

3. Simplify. - ¢ [\(, ~—(é-‘-/>_( z /# LA
~ 56 - (2- 4)] _ o 7 . ( >

- 56~ (2~ 4))=

s [ 6+2(=
Answer. - 40 - -
-5 3?0+
ID: R4.45 < e

4. Evaluate the expression. 2

~ v
2
2 -
4-(-8 (i o
( )= (Type an integer or a simplified fraction.) kf/ 7 [( .
S e
Answer: 6
[ 2
—‘_'d..-‘_-—‘ —
ID: R.4.47 2.

0907/ htps/ixlitemprod.pearsoncme.com/api/v]/print/math
/ /‘!.'-’if;\'*péi _.?:_/jp Cpﬂg‘aﬁl}%wm pi/v1/print/ma
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5. Evaluate the expression.

https://xlitemprod.pearsoncmg.com/api/v1/print/math

s(rr 3 (b= )

3-[4+3+(4+5)] 2 [ 3 ( 9) f* mv))
3:[4+3+(4+5)]= :(Simplify your answer.) é Lf ,_74, Z/ 7 Z <U7 g
2 1A ]
Answer: 93 i L 3 ! j
S
ID: R.4.53 e — . a
= — = ——— = ——-—::--"::--e___"-—_"‘:a-__
d6- Simplify the following expression by combining like terms. g(g ,f.,", ) — / /('3 _.  ( )
3(z+7)-2(62+1) 3 é /_‘LZ ‘ __{ 2 ’g_

3(z+7)-2(62+1)=

Answer. —9z+ 19

ID: Quick Check R.5.27

(Simplify your answer. Do not factor.)

¢ VU‘E&}-

T~

7. Evaluate the following expression for the vaiug_.gitréh.
2 =

-2x +4x-8; x=-4

The expression — 2x% +4x - 8 evaluated when x = :;1 is |

Answer: — 56

ID: R.5.49

S R

gW{DAj

8.
Simplify by factoring.

7 —
(/75 <
Answer: 54/3

ID: Quick Check R.6.25

26

/7

—2_5‘-7>¢{_52 .
VS i B
(Type an integer.) )

=2 (<) 5 )+ L) —B=
R (76> f?/'-%) 5=
-32 —/¢—F=

75 = ﬁ//kvus 235/7“'»-

(Type an exact answer, using radicals as needed.)
( 2 N7
'5"‘@15
5
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9. Simplify by adding the polynomials. /Z)( ‘_(’ X - 7"() “T //]/f y /j,«\/ vl .

2 _ 2 _ g X
(2x% = 2x + B) + (7%% + 13x - 20) —( J(ff”(: ?, /;\’r { R s
(2x —2x+6)+(7x +13x-20)= s =

(Simpify your answer. Do notfactor)&/ X / // X, - / y \Q,

Answer: 9,2 4+ 11x - 14

ID: Quick Check R.9.18
e ——————— T T e ——

10. Simplify the following by subtracting the polynomials.

(7y°-ay? +y+0) - (3y° v 0y” -5y +3) //7 75" r7 *ﬁ) (}7 il"(*‘n‘7 Z"S“) +2)

(7y3 -4y2 +y+9) =~ (3y3 +9y2 -5y+3) = — {Donot‘factor) < } -—42
— / L/ & — 2 ¢ . o N .
— ¢ L B - ] - Ty
Answer: 4y3—13y2+6y+6 j:?_ﬂ 73_ C// r ,)_1_ _’___}_Z 7 r S/ }
© i (’/ g L il ) e
ID: Quick Check R.9.22 e Y (39 T~t6 7 E_.l---r—*""'k
11.  Simplify. «,\ = ""..H ——
(10° -8y +3y+5) - (-y*+7y+9) (70y 7 ’?/ -f3/n )— ( — 2e79+49) =
(10y3-8y2+3y+5)-(-y3+7y+9)= - (Do not factor) L "
2

Answer: 11y - gy? - 4y - 4 9y — // #’)/ ry Tty »-—7j — 9

e

ID: Quick Check R.9.23 Q/J L = J/ & ‘f; - ‘~f .-:’

12. Multiply and simplify the expressions.

Z
7x(x2 +3x +6) 7)( (A/ ; )(/ 7 G )
7x(x2 +3x+6)= (Simplify your answer.) 7)(/ ( X __( /2 /{ .__( C!/ )

s

Answer: 7y° + 21x° + 42x 7){ e 7. (x ,f L( ZX
ID: Quick Check R.10.5 jj/f/\/’?) b / / X (4 £ L{,_ LA = )

B

J

h : \
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13. Find the product of the two binomials. yr C /) 6{ 7 Cr )
(x+6)(x +4) a2 P - Ly -
/\/ L A (_/ ){l “'7’: C.‘Xa _’/ Z \./

(x+6)(x+4)= _ (Simplify your answer.) _ - _ o

o~ - e . , C - ._.\
Answer: 2 4 10x + 24 % T / >X 4 S

ID: Quick Check R.10.9

- -y ———
14. Use the FOIL method to find the product. [ g XA b/> [ g'/g/.// )

(3x +8)(4x = 1) /z./ ,{, T = ,?/<~. '_T' 3( )< - 5 _
(3x+8)(4x-1)= | (Simplify your answer.)—— Z = —
/Z/X —+ 2.5 X /{ e
Answer: 12,2 + 29x - 8 o
ID: Quick Check R.10.10 —
e —ee -‘_____'__‘__‘— ..._____‘_________
15. Find the product. (6 a — l ) / X+ ,f ‘> ) T ——

(6a—b)(a + 5b)

6at+ 3pab—ab ~sb*
Q/Gd\l T 29 & Z) - g—é'{_':'_

(6a-b)(a+5b) =

Answer: g42 + 203h - 5b°

ID: Quick Check R.10.11

.__-vv———-\\l \._\ —
16. Find the product using the difference of two squares formula. @X,/ )/) (9/)(’ = ) 1

(4x + 5)(4x - 5) _ ) e )
SOt — ZoK A psH — 0 5 =

(4x + 5)(4x - 5) =

ID: Quick Check R.10.16 S
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17. Multiply using the rule for the square of a binomial. ({". d,) \
(x-8)° (jh*'ff’ (K—%)=
2 ' ,. i - ,
(x-8)=] Xv— fx — X ++6 ¥
Answer: 2 - 16x.+64 X =6 X € D
C :

ID: Quick Check R.10.21
Z ~

18. Find the product. (7 )( A ?,_-__ '(> )
g (7302223 =

(7x+3)°=| oy _ .
CIxt U X+ UXT ] =

——
T —

——

C K Tx #%¢X =7 - ™

Answer: 4952 + 42x +9

ID: Quick Check R.10.22

. B
19. Find the product. ) - ™ o e
(x+7)(x-5) (/—{ Ri‘(_)_(-r‘% ) N
(x+7)x-5)= | (Simplify your answer.) /L — e = 7 )ﬁ —Y =
- | =
Answer: y2 4 oy — 35 < ’( —1 ¢ )\/F—_ 25 | :
ID: R.10.37
20. Use the FOIL method to find the product. (7/)(/“72; \ .
(4x + 7)(4x - 1) ( L2 ?.._“_ﬂ,, A — ) -

(4x +7)(4x-1) = | (Simplify your answer.) /6 X s = Q{)( —F Z ’é;{\ ._7 —

Answer: 16x? + 24x -7 —

( /6 X : B R =" S

ID: R.10.39 _— - e ———

50f 100 8/7/2019, 10:19 AM
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/5(\+31)(ﬁ ¥L) <

21. Find the product of the two binomials.

(5a + 3b)(a - 4b) & Sl — 2L ;( e - 5 a L "’Z,}g

(5a + 3b)(a - 4b) = | (Simplify your ans )"" ) - ) >
— SO —(7atb — (2] -
Answer: 552 - 17ap - 12b° S~ . : f—-’“ﬁ
ID: R.10.45 — _________________
. N - I —\‘\
22. Find the product of the polynomials. ()({ 3{) ( ){’ —f 1} x/ 7 'S') —_—

(c+8) (o +2x+5) XPtixtr ek o Ut e+ o=
(x+8)(x +2x+5) [ (Slmpllfy youranswer)
Answer: X3+10X +21x+ 40 g / UX ‘f C) / )( e <‘./ () \
ID: R.10.49

- 23. Find the product of the polynomials. K}( ~ VX'/ \ ) (ZX T‘ S) o ——
(5%% + 4x+5) (2x + 3) 3 v
&x " 1/ (3
(5%% + 4x+5) @2x+3) = | ( g X 1 !})( T /(”( f/*-f’f# =
o 1o s vais 4 OX -t ZIH 4 20 e e = D
__————-"_'--rff-("
ID: R.10.53
= — — \\_ — ——
24. Find the product. (A t 2) (Z ’}) /},J,_ 2 ) ol
(b+2)(b-3)(b-2) (Lﬂ 2 ( L =3 L2l + € )

(b+2)b-3)(b-2)=

(ZJ—rL)( -—';éjf(;):
b bt L2 L o | H1o -

Answer: b3 _ 3p? - 4 + 12

ID: R.10.61

7 v, ———
b =36 —%b «+ (o -
D
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25. Simplify the expression.
3
(y-9)
3
(y-9%57"=

Answer: \3 _ 15,2 4 75y~ 125

ID: R.10.93

26. Determine which of the given numbers are solutions to the equation.
-8x+2=-6;x=-4,x=1,x=4

Is x= - 4 a solution to the equation?

() VYes
) No

Is x =1 a solution to the equation?

() No
() Yes
Is x =4 a solution to the equation?

(5 No
) Yes

Answers No
Yes

No

ID: Quick Check PF.1.3

https://xlitemprod.pearsoncmg.com/api/v1/print/math

(V»’Sjjz
(9’5N7/«7(9’<)2
i —>)(7 -y =597 1)
/7"&@7 /uy 'f/S’)

7 "*/VVL—rZ }6’) —fdrs

<\/ —/ syt T/s)—/(:;

-~ 8&r7 = — &
—f(~)re s —¢
380 = —6C

3+ —G
—8 X2~
—3() F¢ =%

e s ~6
—_ 6= "%

A/ O

_F,_.gx,_f ;= -G r
30+ ez e
._-/5 2 : b

“Su{‘. -G

e

27. Solve the following equation.

3x+4=16

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The solution set is {m_,,_,, -
() B. The solution is all real numbers.

) €. The solution is the empty set.

Answer: A. The solution set is { 4 b. (Type an integer or a simplified fraction.)

ID: Quick Check PF.1.8

7 of 100 vorono—

N+ /C
KN+AY—y = [6—

3)( =/

B } (Type an integer or a simplified fraction.)

Bl
B
Yoo )
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—4x—§ = 13

28. Solve the following equation and verify your solution. "’5 )( o a( + 7 {1~ g

-3x-8=13 "’3){51/

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

—3y ., I
A. The solution set |s{ } /é__ 2 ‘,:}/’

(Simplify your answer)

B. The solution is all real numbers.

C. The solution is the empty set. @ =

Answer: A. The solution set is { -7 ,}.(Simplify your answer.)

ID: Quick Check PF.1.9 —

29. Solve the following linear equation and verify the solution. Z/>( ~+2 X S/ - Y)(»—,‘—/ v
2x+2+5x+4=5x+14 ' ~+ e = St

Select the correct choice below and, if necessary, fill in the answer box to. complete your choice.

T e /-
) A. The solution set is {

(Type an integer or aEmehfed ngctlon) 7)( E Q.)( "{_ X
() B. The solution is all real numbers. ,7 )(__, 5 X z= 5y Z~§ X

Oce. T ion is th t t. v,
& he solution is the empty se 2 )( — X

Answer: A. The solution set is { } (Type an integer or a S|mpllfed frac{tfon J)

ID: Quick Check PF.1.11 (’ {""(-/ ™

30. Solve the following linear equation. 5’()(___3) =l
5x-3)=15 S,_X __,/ < [

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

S S/-.,f./"i— TS

() A. The solution set is { - } (Type an integer or a simplified fraction.)
B. The solution is all real numbers. S ’( = 3 et
C. The solution is the empty set. ] 5
SX = 32
( ) S S
Answer: A. The solution set is 6 - (Type an integer or a simplified fraction.)
ID: Quick Check PF.1.14 ( <G )
________,_,__a.f'
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~3(—2) —t = S{xer3) +3

31. Solve the following linear equation and verify the solution. ._}){ Y . .
Fho—=LT SXtr 37

- 3(x=2)=2=5(x + 3) + 37 I - Y = X 52

Select the correct choice below and, if necessary, fill in the answyox to cornp[ele your choice.

*"5)(’{/"‘7’ SX s
7 A. The solution set is{ } . 5 X % 77 ¥

L I o
(Simplify your answer.) =
1 B. The solution is all real numbers. - ) )(__PS )( S /( a0 (/ F J )&

C. The solution is the empty set. —_ 6 )( e g/ J/
Answer: A. The solution set is . (Simplify your answer.) *-U_?ﬁsm: CL—Z

ID: Quick Check PF.1.15 Q)/c —6 N

e m——

32. Solve the following linear equation. Be sure to verify your solution.
0.06x-1.9=0.02x- 1.1

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The solution set is { - me-}
(Type an integer or a decimal. )

() B. The solution is all real numbers.

() C. The solution is the empty set.

Answer: A. The solution set is { 20 b.(Type an integer or a decimal.)

ID: Quick Check PE1.23 O . O (5 X — / 5’ = ﬁZ/f—/ /

006X —| 5 + 5 < gooor~/, ) +1.9
OOOGQ(': OOOZK ’+o ?

0.06X—=0.02X T 0,67« . ¥ —0,0 X
0.0 x <. o
_G_LQ_ZA_ — ‘K‘

(X 2o

- e ——— —-.'f:_..— ————

90f 100 8/7/2019, 10:19 AM
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33. Solve the following linear equation. ldentify the equation as an identity, contrqcﬂgtion._QLgpnditional equation.

2(x+9)=2x+9 C ( X 7) sl Z)(,+ ?
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

X~ (= X+ G

) A. The solution set is { }. (Type an integer or a simplified fraction.)

() B. The solution is all real numbers. Z/ )< H{é //04-/‘?}4{ Z, X—f % _/ X
() €. The solution is the empty set. -
X =l — G

State whether the equation is an identity, contradiction, or conditional eduation.
7 —UA = ol W~ X

-

() Contradiction > (5\ - . 3 N
() Conditional equation < —-"’) = q . o
Answers C. The solution is the empty set. ﬁ P4 S_)/(‘t ,_’L(‘J\ /' //v( (-yyé LL%\ .._._\\\
Contradiction _ : ’ )

= Conf fLV(( <ty

ID: Quick Check PF.1.27

¢y ldentity

i

34. Solve the following equation and state whether it is an identity, a contradiction, or a conditional equation.

4(x-2)=3x-B+x <{(,(~1) T3 A—TTX

Select the correct choice below and, if necessary, fill in the answer box to co plete your choice.

X ~gAY< X >

) A. The solution set is { L - _

(Type an integer or a simplified fraction.) _ 7
(") B. The solution is all real numbers. g/)( —9/)(/ T % X~ C/J(
i_) C. The solution is the empty set or @. C') o o

State whether the equation is an identity, contradiction, or conditional equation. Choose the correct choice below.

dentty CT%0 Sulutim 15 adA reed Nwmbzrss,
contradiction e - _ :

conditional equation

Answers B. The solution is all real numbers. L

identity

ID: Quick Check PF.1.28

10 of 100 8/7/2019, 10:19 AM
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| | X+ T U
35. Solve the following equation.

Bx +3=21 6 )(’f/j/—-/j\l l
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

= /K

A. The solution set is {’ } (Type an integer or a S|mp||f ed fraction.)

2
B. The solution is all real numbers. 6 >< - /37
C. The solution is the empty set. _6 é)

Answer: A. The solution set is { +. (Type an integer or a simplified fracthu\)

«a»
ID: PF.1.43 S—

36. Solve the following linear equation. f g = (_ _ - '/\
52+6=2 S & G~ 6= 2~ 6

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

S< =

(0 A. The solution set is { }. (Type an integer or a simplified fractlon.)
B. The solution is all real numbers, : —/
-

C. The solution is the empty set.

Answer: A. The solution setis - ¢+ (Type an integer or a simplified fraction.)

( &="% )

ID: PF.1.45  —_ _ ' A
37. Solve the following linear equation. _,,_ _C;‘;/ r-f 3’ (Vi y =
~Ow+Bw+4=-6 —\w 7FY¥ T -6

Select the correct choice below and, if necessary, fill in the answer box to complete ypur chaoice.
s AT~

A. The solution set is { } (Type an integer or a S|mpllfed fraction.)

B. The solution is all real numbers. -’( W < —/ 0

C. The solution is the empty set. —/ D
-——"/

Answer: A. The solution set is { p. (Type an integer or a SII}(‘IDIIF ed fractlon )

— N\\\
T/ D

—

e —

ID: PF.1.47
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—~— /L,’_
38. Solve the following linear equation. Z ( >(‘( L) -

2(x+2)= -2 I+ Y= T

Select the correct choice below and, if necessary, fill in the answer box to complete yaur Ehoice

XA = —

() A. The solution set is { } (Type an integer or a simplified fraction. )
() B. The solution is all real numbers. Z X =
() €. The solution is the empty set. Cg_
i '&_ _— L
Answer: A. The solution set is { -3 't (Type an integer or a simplified fraction. )
(X= —3~
ID: PF.1.51 ——

=" - S, —— . — .LL,, ff ( L{ : ““\
39. Solve the following linear equation. :_Z’_? (C} 5/) o %&f ((‘ 3 ')1‘ ,L(é 3) WI_ C D ) J

Zy _10_y : ] / \ 63/
9 63 7 27(7) "“/O(I) ?/7 -
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

f oy —=fo =9 3

(2 A. The solution set is { } (Type an integer or a simplified fractron )
() B. The solution is all real numbers. / L{-:_) ~—*/ y: 7 /t' E ) ) 7/
(") €. The solution is the empty set. /L{, &eq 2 7 7 v -

feg’ =7 = 77 f/o - 7/
Answer: A. The solution set is { 'r (Type an |nteger ora mmjphfed fraction.

"S/ /(‘ "r
ID: PF.1.53 ‘,} = & (j

40. Solve fory.

7x+y =21 7)(*6 9 S ay
- Tty =% =& | =/~
Answer: —7x+ 21 Lj e & ’ m/ +<

ID: PF.1.87 N—

Y =7 x|

o’
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41. Solve the equation for y. 7)<r*‘f :"-: l7 Eq )’
e e A3 9 - = (3 =X
y= (Simplify your answer.) 3 j e (3 - 7 )<
Answer: 7 13 3 ") ’(___3___ “__,Z_>_<_
T 3 T 3 3
j - B _TIX
ID;iIi.J_.BQ o i ] "_ 7 g -

42. Solve the quadratic equation by czmpleting the s
- )c’ *f Yx-r

L YX ()¢

x2+4x=5

FS__f

The solution set is {
(Simplify your answer, including any rad;cals and i a%

needed. Use integers or fractions for an

req))— _ (é(q))/ ko i< £y7

—
—

=TI

ufnbers in the expression.

(s

Useacommatoseparataanswersasneeded)X f(//( - Y/ = c‘/ /("z‘ Z -3 1
Answer: 1,- 5 ‘/‘ 9‘ X — S T C:,' =~ )(—-{—( . <~ —3 )
QKKZ/(%#'Z/"K'///X; WL--J' @sg’)

ID: PF.5.15

(=Y “)

—_

\y

*> Find the @ice\d P1. P2) between the given points P4 &
and P,. i~ @ &s Y :
Py=(-64) _,;-’( ’y ' 53 5) P‘-—-""'
P=8 Z \ @‘ |

//ymﬁc._/( J(’?‘ 7L// /1,)( 57T
d(PrPo) = | U(( 6) (3)) 7(@) [r))

(Simplify your answer. Type an exact answer, using radicals as needed.)

Answer: /82 d (/6 6 y %

——

(&

13 of 100
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44, Find the midpoint of the line segment joining the pomts P,and P,.

—~—3 T
P,=(3, -6); P,=(9, 8) tt‘/f/’dj /mkw /"171.// (B—_z,.
The midpoint of the line segment joining the points P, and P, i |s L _— "Z.—)
(Simplify your answer. Type an ordered pair.) (/thf‘vi _ : .
el = (L#5) ot ) (6] 1)
Answer: (6,1) T

pdped (20 ")

ID: F.1.39 y
45', 80*11:;\3 e following equation. / ; - I —~F gﬁ ()/——/ ﬁ/
17=1+4(x-19) e (= X =76
The solution setis { I / 7 = 55)< o 7 S .
= ¢y — )
Answer: 23 /} i z Jff_ ;‘ X A - \)
7¢ - 7X 723X
ID: F.2.1 74 ~ K 27

= s

-,

46. Solve the equation Iﬁyfactoring') Z — % = é — >

22 +2-6=0 ({"‘""z& G‘:’i‘})

- =
What is the solution set? % /& — j ,

X< —B"&‘VW ~ i Ol )= “g
)*W#ﬂ)&)w = “3>"

T 2(1)
X7 ~(1{]~+2y f/
L ’;’

e\

< y L /

X — =5/ { -
//w

14 of 100 Z. = _—— 8/7/2019, 10:19 AM
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47,
Find the intercepts and use them to graph

y=2x+4

https://xlitemprod.pearsoncmg.com/api/v1/print/math

the equation.

Select the correct choice below and, if necessary, fill in the

answer box to complete your choice.

) A. The intercept(s) is/are
(Type an ordered pair. Use a com
separate answers as needed.)

() B. There are no intercepts.

ma to

Ay

A

Use the graphing tool to graph the equation. Use the
intercepts when drawing the line. If only one intercept exists,

use it and another point to draw the line.

Answers A. The intercept(s) is/are (- 2,0),(0,4) |

i
= 7 - Z/X’_fz,»/‘

(Type an ordered pair. Use a comma to separate answers as needed.) s

f; Z)L'-:')

hy

(9 Y-ialeant

x/-—-; ) L{{’LL_.-W[
— :-t T

40 B4 S

L\/ \ "‘\6"('1’.)\'\/
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48. . L fj\;‘)_\_ y»_z[/( —
For the equation x“ +y~ —2x - 8y — 19 =10, do the following. mf‘y
(a) Find the center (h,k) and radius r of the circle. 8;
(b) Graph the circle. ' Y |
(c) Find the |ntercepts if any. - ‘L\ ") &
r - f 4 .
' (a] Th center |s ]
(Type an ordered pair.) 2-
X
The radius is r= o ® 5 % 2] 21 8 85w
2
(b) Use the graphing tool to graph the circle. )
i
(c) Find the intercepts, if any. Select the correct choice
below and, if necessary, fill in the answer box to complete -6
your ciholce - ) ,L t
/(—U{ ;: (‘(*f)) /r(z("‘a’)) s < (,,(»-Z) f(a( Q;)
' A. The mtercept(s) lsfare

(Type an ordered pair. Use a comma to
separate answers as needed. Type
exact answers for each coordinate,
using radicals as needed.)

. (O B. Thereis no intercept.

2 /e T
Xt =t x4 (-9t f7"‘77 + )t HAa (~1) " )
)('LAnsuEerijH |l v ——377 </ & 1 [ /¢

| s ¢,
1) Cx—1) FO95%4)(9—<) =7 ,
g o) gz 2
-\\flfh"' ‘)P—

CEndhe (-[ ) = .

M(WS = /3¢ CC’)

0

A. The intercept(s) is/are | (1-245,0), (1+245,0), (0,4-435), (0,4 + 435) .
(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each coordinate,
using radicals as needed.)

ID: F.4.27
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49. Simplify the radical. W‘ﬂ—_ }7/ Wz ?
Up—a) > - X+ 8

S (Y= @

The answer is | i f({ v — ;——:-‘-:-;! @ X/

Answer: 4x -9

ID: Quick Check P1.2.10
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_/3 = ™~
7—¢‘//I

50. Solve the inequality 5— 3x < — 1. Graph the solution set.

In set notation, the solution is {x] | N } (Type an inequality.)

Graph the solution set. Choose the correct graph below.

O A, i ————— () € ——
9 6 3 0 3 6 9

15 12 9 -6 -3 0 3

() €. < f——- ) ) € ——————
9 6 3 0 3 6 9

-9 -6 -3 0 3 6 9

Answers x> 2

€ ———

DD 9 6 3 0 3 6 9

ID: 1.1.4 j'h —% Y < — |

_V-ny/ < & —y
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51. Find the following for the function f(x) = 3x° + 4x - 3. /;." = ?(C)){fd) + Yo ~J

(a) 7(0) (b) f(4) (c) (- 4) /(d) -0 — 3 D |
(e) —f(x) (f) f(x + 3) (9) f(5x) (h) f(x + h) )//;) - 3(Y) (§ Yl )= 3
(a)f(0) = ' (Simplify your answer.) 7[(?) 2 3 ((/)/V R AT At

(b) f(4) = (Simplify your answer.) /( a))::—i“%fr‘/ lf,,,’:j
__/l,/ '__,C/),.._ 3

(c)f(-4)= (Simplify your answer.) [é:;)— =3 5 (-.(() L ~t Y1 ) c(} 3

(d) f(-x) = (Simplify your answer.) ‘[(,, & ) -3 (;:/()7/:‘//)6 ':f— 5

(e) —f(x)= ' (Simplify your answer.) / / (__‘/- ) = ¥ _7*‘ :u./

Hfx+3)=  (Simplify your answer.) /-—X F f/‘%)é’*}’p)() -3

() f(5%) = (Simplify your answer) /" )Cg 2 3l ) =K) T _/’K ) =3

(h) f(x+ h) = | Simglifoyour snowee) EEA) = 3 i3 :— e
C=ifilz =(3xt g yx-3) = —3x Sy xt 3 )

Answers -3 '
o /(x‘-Ps/:B(x»ﬂ)L—f ¢ (x+v)~73 = B(X%)(Xéf})#g’/(‘*}/"j/
s L(X SFaxrdar) 4 €(xey) — 3
, 3 xYrG6x+9)7 Y (xe3)— 5 =
FE N A LS /U= F

—3x2—4x+3<"3‘:_(’i__(5m—::§ "c.-”"f"

2y 2ox+
3x222 36 {YX),LB/KX’)L_{,L/(W)_'}
203 L) 23 (yr) (50 )Y (f—x)P 3 e
al+ox+3nleaxsan-3 J(R < s xC Fiox —7 )
?(-/44) <3 CErb) T F Y )= |
ID: 1.1.43 dy b ) TD b)) (k) (b)) =3
—— Ol ) = I A e LA h € ) b ) =3
52. Find the domain of the fun A);—_g(f%"f‘ﬁﬁ”\-/‘/) ¢ fﬁx(’{f_{t{ﬂ;_ﬁ_ﬁﬂﬂ e
—SGth) = TSI T Y x4 h =3 © |

f(x) = 4/5x - 30 77;,,7)5;‘,.(:‘1_—::"‘5—‘/ — -
The domain is | (Type your answer in interval notation.) ¢ . o
-—-M - ‘ | | ) (/\ e
— 30> O ’
Answer: [6,00) ‘ 9 A/ 3 - Ax—fﬁ >
("X *-)j/c)--_r o= O+3 0 ' 4%‘;’//
B ID: 1.1.59 f)( "'/-; 2 >
—— ’;) :
$X = = v
5

B,
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53. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
f(x) = 3x +4; g(x) = 9x = 7 4 ,»c') ~+ J6¢) = g

(a) Find (f+ g)(x). (3 X/f(") * ﬁ{'/]) \(JV\M \

3 —+ Y 7 s
(f+9)x)= | (Simplify yzﬁranswer)f 7 /1 ‘j ﬂt/ _, \/,/

- / Fa 5{ — D = _/__:
What is the domain of f + g? Select the correct ch0|ce below and, |f necessary, fill in the answ r' (>] complete your

choice. 7% F’—Jﬁ(/ -
O A Thedomainis{x }. (.3(49/) = (9/"7) B

(Use integers or fractions for any numbers in the expression. Use a comma to separat . ——— =
answers as needed.) 3 )(’r ¢ — (7 )(' / 7 - / . /( \
() B. The domain is {x| x is any real number}. = G X —f \ 1= ) / G )M G |

(b) Find (f- g)(x).

(~5200) /

,—'—’/

f-g)x)= (Simplify your answer.)

What is the domain of f— g? Select the correct choice belew and, if necessary, fill in the answer box to complete your

choice. ( £ e 3 ) (‘)/ 2
N

A, The domain is {x| ) £ ‘:'(#} J (’/) ) Q‘l\JV\ 4 \
(Use integers or fractions for any numbers in the exprésswn > a'comma to separate — o

answers as needed.) ( 37 ) 7’(__‘_7 )
B. The domain is {x| x is any real number}. 2 7 ?, N -
)/L —ZL-_/-rZC)("_Z N ; g
(c) Find (f+ g)(x). 2 7 )( ) = X — > 3 ;. _\'l‘-//’ﬁf -

(f=9)(x) = (Simplify your answer)
What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
) A. The domain is {x] S H}

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) A
,’/ 7y / C(,Jyn ¢

() B. The domain is {x| x is any real number}. 5 (« / _
(d) Find [—] (x). IS Ny . .
] I ) 9{»—77‘7 = 07
[i] (x) = (Simplify your answer.). . —— D" ’ X/ ) / _
: 74} 7
- <y

f
What is the domain of 5'7 Select the correct choice below and, if necessary, fill in the answer box to cor!mplete your chmce

«Jr

A. The domain is {x }
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

B. The domain is {x| x is any real number}.

(e) Find (f+g)(3).

19 of 100 8/7/2019, 10:19 AM
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(f+g)(3)= (Type an integer or a simplified fraction.) (T j/[)() - /Z X—5

() Find (f- g)(2). (/-fa /3)—/1//3) ~3

(f-g)2)=. (Type an integer or a simplified fraction.)
(9) Find (f- g)(4).

(feg)4)=__ (Type aninteger or a simplified fraction.) (/r cy[)/) > - (, )(...f_/ /
I o) (1) = ~6(0)+/]
/"y (@) - — [ /L—/ /f
[é] (h=__  (Type an integer or a simplified fractian )(/ )/ ( L } J

Lk 27/‘#/6’%’”
_'@514,) = L7(y) I 27
L) ()= 21 /50

B. The domain is {x| x is any real number}. [ ) %) ,,f——jgz —(’ 6‘() "'ZJ
27x? + 15x - 28 ; . _))/,7[) ?‘6 c/ Y=

B. The domain is {x| x is any real number}.

g | X
(h) Find (g](ﬂ.

Answers 12x -3
B. The domain is {x| x is any real number}.

-6x+11

3x+4 ) ('/
9x -7 ()(/ 7)( 7
7
A. The domain is {x| x# 9 : ] ) "l 3{ _,L
- ) (D =7
(Use integers or fractions for any numbers in the p> sslun Use a comma to separate answers as needed.)

33 — 3 45 /
-1

464 e e

N~

ID: 1.1.67 —_—
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54. For the given functions f and g, complete parts (3)-(h). For_parts (a)-(d), also find the domain.
) = x - 6; g(x) = 8% (=79 )5 <
(a) Find (f+ g)(x). Fed—~ 2] ~ ;
(x~— 6 )t (6{#’ )

K% T
What is the domain of f+ g? Select the correct choice below and, if- neeessary fill-in-the answer box to complete your
\.,,-r—

choice. ( 5/ 1 )(,.-_ ’I__’__,,

0 A The domain is {x| }.
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) ( / / y,} —

f+o)(x)=| (Simplify your answer.)

) B. The domain is {x| x is any real number}. /4 (,, )
. £ ;
(b) Find (- g)(x). ) — @) -
47T iy -t
= = "IN S .
f-g)x)= (Simplify your answer.) )( ('* ‘e_ L
_ a —/" )( :
What is the domain of f — g? Select the correct choice below an |f ’r_lecessary, fill in the answer box to complete your
choice. &)
O A. The domain is {x| }. /é)?) e Do
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as heeded.) ()/ ”G ) (zf’l/z) —
() B. The domain is {x| x is any real number}. — \\“—L il
7 = XD

(c) Find (f+ g)(x).
(fro)x)= ' (Simplify your answer.)

What is the domain of f- g? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. L %
y] )
A. The domain is {x] }
(Use integers or fractions for any numbers in the expression, UUse a comma to separate
answers as needed.) S i)
16
O B. The domain is {x| x is any real number}. )//)
f —~6 _
(d) Find (E] (). f:ﬁ t.’/
X ”
f g, : o e
{E] ()= | (Simplify your answer.)

f
What is the domain of —7 Select the correct choice below ar]d if necessary, fill in the answer box to complete your choice.
(/ a ){,//ﬂ x5 xY—c
A. The domain is {x| } ﬁ /{c/)d o /5// (
expres

(Use integers or fractions for any numbers in t ion. Use a comma to separate
_ answers as needled.) ( £ )//({) X(( ( {U - /.:_f/ m—
- The domain is {x| x is any real number}. A
o)/ = (24 + Y—¢

(e) Find (f+ g)(4). Q (% ‘f‘ﬁ ) /? ) B /J /ﬂ_G! ~% {/ i

21 of 100 — — e §/7/2019, 10:19 AM
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(f+g)(4)= (Type an integer or a simplified fraction.) -/‘_— ‘..) (’/) . *-"Z?)/ Z__T_” A &
(f) Find (f- g)(3). BT A

- H i i i i J _, . ¥ ( 3 . & pr— (2‘
(f-ag)(3) ' (Type an integer or a simplified fraction.) - c) ,3 - .,5( j) =1 ( 5’/
il Tn)=-8303) 7(3) ¢

(fe@)(2)= _' (Type an integer or a simplified fracth{ 7

[f] )/(U “71%3_“6 =
(h) Find 8 (4). 7 ;‘; (‘ 2 ): .7 ;,. —
CAF = et

f i ==t
(-g—J 4= ' (Type an integer or a simplified fraction.)

K= EX ik
Answers 8x% +x -6 //)/2) 5(2) - "{7(2)

e domain is {x| x is any real number
Ei;hjxe y real ber}. )/{1) 7('2)/7)/2) ,___'“fﬁ(Z)é
B. The domain is {x| x is any real numb / (Z é % _____/(..

8x —48x
o /.
B. The domain is {x| x is any real numi :}lf y /Z {((?/

X-6

8x2

A. The domain is {x| X#0 b ( 'ﬁ/)/ ﬁ f_’:

(Use integers or fractions for any numbers in tr!e expression. Use a comma to separate answers as needed.)

126
-75
-128
1
T 64
ID: 1.1.69
\_——'—'F-'_ -
55. f(x + h) - f(x) N
Find the difference quotient of f; that is, find —h h # 0, for the following function. Be sure to simplify.
((x/m) ~S(tthI+7)—( ¥ ~v,(_,c V.
f(x) = x —-4x+7
A
- . . . L
~ " /}l - ,-"’I A
nswer:2c+h=4 /s Al gl Lo b A A -7 R
_,___2‘ —

ID: 1.1.83 @(4—/; h1~yﬁ . __/__ gi_ Y4 @
; A —
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56. Determine whether the graph on the right is that of a function by using the vertical-line Ay
test. If it is, use the graph to find the following. 8
(a) the domain and range (_32,‘*“.
(b) the intercepts, if any - : N _X}
(c) any symmetry with respect to the x-axis, y-axis, or the origin bR L R (LR
43 \)J )

23 0f 100

Does the graph represent a function? Choose the correct answer below.

* A, Yes, the graph is a function because every vertical line intersects the graph in at most one
point.

(©) B. No, the graph is not a function because a vertical line x = - 2 intersects the graph at two
points.

) C. Yes, the graph is a function because every vertical line intersects the graph in more than one
point.

(O D. No, the graph is not a function because a vertical line x = — 2 intersects the graph at only one
point.

(a) What are the domain and range Ofl thqfunction? Select the correct choice below and, if necessary, fill in the answer
. ik ris p— 5
box(ef_) to comPIete your choice. [ | ) ¥ St { C [’u l'id - ] 0‘01

& 1 Gl -3 ) 0 ) Th{?;;;:is ( - 2, L) & g

(Type yodr answers in interval notation. Use integers or fractions for any numbers in the
expressions.)

B. The graph is not that of a function.

(b) What is/are the intercept(s)? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

WA, The intercept(s) isfare (’“ ’ ) v /J
(Type an ordered pair. Use a comma to separate answers as needed.)

B. There are no intercepts.

C. The graph is not that of a function.
(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.
[] A. The graph is symmetric with respect to the y-axis.

[] B. The graph is symmetric with respect to the x-axis.

O C. The graph is symmetric with respect to the origin.

\_\[ET"D. The graph has no symmetry. ™

('] E. The graph is not that of a function.

8/7/2019, 10:19 AM
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Answers A. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is (-3,0) . Therange is (= 00,2)
(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)

A. The intercept(s) is/are (-1,0) .(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID: 1.2.19
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57.
Determine whether the graph is that of a function by using

the vertical-line test. If it is, use the graph to find

(a) its domain and range.

(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a function?

-""ﬁ/ Yes

No

If the graph is that of a function, what are the domain agnd range of the function? Select the correct choice below and fill in

any answer boxes within your choice.”;, /¢ /| ) A = .
" CL’ ] o *f A bu ™~ Tu P:(
(YA, The domainis [ 71/ "w_ ) . The range is (m//: [ &
(Type your answers in interval notation.) :

B. The graph is not a function.

What are the intercepts? Select the correct choice below and fill in any answer boxes within your choice.

/ ! . o,
(Type an ordered pair. Use a comma to separate answers as needed.)

B. There are no intercepts.
C. The graph is not a function.

Determine if the graph is symmetrical.

rd
- Cf4 St is symmetrical with respect to the y-axis.
It is symmetrical with respect to the origin.
It is symmetrical with respect to the x-axis.

The graph is not symmetrical.

moow

The graph is not a function.

Answers Yes

A. The domain is (=o00,00) .Therangeis (=o00,11 .(Type your answers in interval notation.)

A. (2,0),(-2,0),(0,1) (Type an ordered pair. Use a comma to separate answers as needed.)

A. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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58,
Determine whether the graph is that of a function by using

the vertical-line test. If it is, use the graph to find:

(@) The domain and range

(b) The intercepts, if any

(c) Any symmetry with respect to the x-axis, the y-axis, or
the origin

ljthjraph that of a function?

7 Yes

{) No

(a) If the graph is that of a function, what are its domain and range? Select the correct choice below ar}g, if necessary, fill in
the answer box to complete your choice; . - .
/' (L.r.[.{ ) Mtk ] b, Y "r"*\) TO¥ _
() A. The domainis/ — < r\,f‘) . The range is E‘”/ ‘Y,) é—///
(Type your answers in ‘::ﬂerv}:-:l notation.) .,

B. The graph is not a function. "

(b) If the graph is that of a function, what are its intercepts? Select the correct choice below and, if necessary, fill in the
answer box to complete your choice.

4

.7 A. The intercepts are ('—/; 0/ (:-‘-;) 0) /U/f )

(Type an ordered pair. Use a comma to separate answers as needed.)
B. There are no intercepts.

C. The graph is not a function.

(c) If the graph is that of a function, determine what kinds of symmetry it has. Select all that apply.

[] A. Itis symmetric with respect to the x-axis.
[] B. Itis symmetric with respect to the y-axis.

I‘_;]} It is symmetric with respect to the origin.

l
[C] E. The graphis nota function.

»

1'D. \:Ifhg_graph is not symmetric with respect to the x-axis, ;axis, or the on'gi;!.

Answers Yes

A. The domainis (- oco,00) . The range is ' [-4,00) '.(Type your answers in interval notation.)

A. The intercepts are (- 1,0),(-5,0),(0,5)
(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph is not symmetric with respect to the x-axis, y-axis, or the origin.

ID: 1.2.23
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A
59. Using the given graph of the function f, find the following. \“\’ wh
Ay p”
(a) the intercepts, if any N
(b) its domain and range = (())O (,1 O
(c) the intervals on which it is increasing, decreasing, or constant \) 7 ..}'
(d) whether it is even, odd, or neither %,}‘ W A
UHE AT R R
Wikl Al
< (2/9) %
J']fjb

(a) What are the intercepts? + :

120 (Y ) ©,1)

(Simplify your answer Type an ordered pair. Use a comma to separate answers as needed.)
(b) The@omain rs

e\ | ./ [y it
(Type your answer in interval notation.)

Thﬁam}ge'is L O] fh ) b L 13’ ) by J TV Y)'__(

(Type ybur answer in interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

f‘/-Thegraph |séasmgon [) 01 (Z 31

(Type your answer in interval notatlon Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

‘/A The graph ':iiﬂ‘reas'"g«én [} - /j (0 Z?

(Type your er- m’ﬁtewal notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.
On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.
A. The graph is constant on

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(d) The functionis (1)

1) odd.
even. _ e
(/-'f'-* nelther odd nor even. =y
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Answers (- 1,0),(2,0),(0,1)

[-33]
[0.1]

A. The graph is increasingon | [-1,0],[2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [~ 3, —1],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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I
60. For the graph of a function y = f(x) shown to the right, find the absolute maximum Ay Ao

a
and the absolute minimum, if they exist. Identify any local maxima or local minima. “101.5) L u"‘ r ¢
: U
(4.4)

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

S | [y S o (1) 5D

LT A, @e absolute maximutn of y = f(x) is f(
(Type integers or simplified fractions.)

B. There is no absolute maximum for y = f(x).
Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice. (

_4’ |

p—
1]

The absolute mintmum oby =f(x) is f( ?
(Type mtegers or S|mpln" ied fractions.)

B. There is no absolute minimum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

“'/l( TheflE:bél max?mufh of y=f(x) is f( £( )= (7/ : Un ((// ('k )
(Type lntegers or simplified fractions.)

M7
B. The local maxima of y = f(x) are f( @ @ “ and
f( )=

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

[-/A/:'iﬁ Iocal minimum ofy=f(x) is f( 3 ) = } . m (3/ 3 )

(Type integers or simplified fractions. )

B. The local minima of y = f(x) are f( J = and

( )-

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local minimum for y = f(x).
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5 .(Type integers or simplified fractions.)

A. The absolute minimum of y = f(x) is f(

1 .(Type integers or simplified fractions.)

.(Type integers or simplified fractions.)

.(Type integers or simplified fractions.)

A. The local maximum of y = f(x) is f( 4
A. The local minimum of y = f(x) is f( k]
ID: 1.3.49
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61.  For the graph of a function y = f(x) shown to the right, find the absolute maximum
and the absolute minimum, if they exist. Identify any local maxima or local minima.

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

S {
A. The(absolule maximum of y = f(x) is f( 3 ] = 7 ) C) ( }/ 7
(Type lntegers or simplified fractions.)

B. There is no absolute maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice. / )
A. The@b-solute r"rjjnimdm of y=1(x) is f( \ ) = ‘ . Cﬂ' ( / /
(Type integers or simplified fractions.)

B. There is no absolute minimum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice. ( _; )

= ” —
A. Th{local maximup of y = f(x) is f _5 )= } ) dﬂ- / 2
(Type-integers or simplified fractions.)

B. The local maxima of y =f(x) are f( ) = and

i ) =

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

O A Thie! local minimupn of y = f(x)is f( [ )= \ : K (

(Type integers or simplified fractions.)

B. The local minima of y = f(x) are f( ) = and

f( )=

(Use ascending g order with respect to x. Type integers or simplified fractions.)

C. There is no local minimum for y = f(x).
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7 .(Type integers or simplified fractions.)

1 .(Type integers or simplified fractions.)

.(Type integers or simplified fractions.)

.(Type integers or simplified fractions.)

Answers A. The absolute maximum of y = f(x) is f[ 3
A. The absolute minimum of y = f(x) is f( 1
A. The local maximum of y = f(x) is f( 3 )=
A. The local minimum of y = f(x) is f( 1 )=
ID: 1.3.51
32 0f 100
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s

62. (a) Use a graphing utility toEgraph f(x) = X - 5x + 3 on the interval [ - 2,2] and approximate any local maxima and local

minima. SN
(b) Determine where f is increasing and where it is decreasing.

(a) Using a graphing utility, graph the function for ~2<x<2 and —4<y<10. Choose the correct graph, below.

) A ) B.

Ba ~_ /

— 1 —

e N

-

/” ‘ s — 2
The (ocal maximam isy ~| | « 9 |andtoccurs at x| — & LA (jYL ( [ P

(Round to two decimal places.)

= _ ‘ — 3O
The /ch'Ti’ni/murﬁ sy~ ___,( P '}, U and it occurs atx=z| l o LO\. m (( > Z c\ l ’) )
(Roundto two decimal places.) /

(b) Where is the graph of fiicreasing?”

e

\0([ 2—129]and[1292] /
O [-130730]

) [-2,-1.29]and [~ 1.30,7.30]
O [-1.29,1.29]

—

=
Where is the graph a@ggg?

() [-2,-1.29]and [1.29,2]
£ 1-1.30.7.301 e

—
— S

@ [-1.29,1.29] =3

() [-2,-1.30] and [2,7.30]

(Choose the answer that most completely answers the question.)

Answers - 2
/'\5 e il
: :'\ p— _____-f’ff‘
- - R
C. ; -
7.30
-1.29
-1.30
1.29
[-2,-1.29] and [1.29,2]
[-1.29,1.29]
™ L ar—— =
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ID: 1.3.57-GC

63. The function f is defined as follows.

-2x+3 ifx<1
f(x)=
2x -1 if xz1

(a) Find the domain of the function.
(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The omém of the function fis | ) (Z[ﬂp )[() (’l J l‘ 4 7

(Type yo r-ariswer in interval notano )
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

“/i The intercept(s) is/are / o g, 5) ‘
(Type an ordered pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.

(c) Choose the correct graph below.

N

(d) T@Hihemncﬁonfis L, %) & [Iq)\_, + ~) 4 ﬁi)p l

(Type your answer in interval notation.)

Answers (- 00,00)

A. The intercept(s) is/are ' (0,3) ) u j
(Type an ordered pair. Use a comma to separate answers as needed.) -

{
(,L_J’,_b»,;'/( Jdwr s TR j /a/ A@

i e XA ~Ie C./e (=
_ (— e~ e
A.
[1,00) y, S T / %
\7 f‘)l/l(,ﬂ = /\) . f
ID: 1.4.33

g T
Ye=20— 5 (xXzp Clsc C‘/‘z'f

~— —

34 0f 100 TR0 0:49AM



finalm1314COCO0147sulllljjRZ-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

64. The function f is defined as follows.

4+x ifx<0
f(x) = _
x> ifx=20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

= 2=
(a) Th@ai_n of the function fis | é 7 iz.—’) & ({/J ) 5 /A J—J
(Type yoUr answer in interval notation.) /

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A The@gept(s”‘) is/are ("‘"f/() }) (C}) @, )

(Type an ordered pair. Use a comma to separate answers as needed.)

() B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

5

ra;;é,'bfthe function f is gh-,QC’ /,AJ )(L}" J ‘H‘) = J %)ﬂ\z

r answer in interval notation.)

(d)
(Type y
Answers (- 00,00)

A. The intercept(s) is/fare (- 4,0),(0,0) |
(Type an ordered pair. Use a comma to separate answers as needed.)

’L-l.//Ub\/.- L/{ )/(
X,:—V"’ll".i = =g jl/bx//"(‘)

A A R |
= MEX = 2 A /

ID: 1.4.37 —— | , () Ve N

(= 00,00)
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65. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@ F()=f()+3 (b) G(x) =f(x +2) (c) P(x)= - f(x)

1
(d) H(x) =f(x +2) -2 (e) Q) = =f(x) () glx)=f(-x)
3

(9) h(x) =f(2x)

(a) Choose the correct gra.ﬁof F(x)=f() + 3 below.

R

O A ) B. ) C.

7]

-6

(b) Choose the correct grap ’of G(x)=f(x+2) belo?.\)

/b»;(_ _h-‘x\\ ) B. O C. O D.

(c) Choose the correct gra

B,

e =" ___\hi e— —~ {{ A._;u-q /2 N .
(d) Choose the correct graph of H(x) =f(x +2) - 2 below. ~ (g[,'] | £
,3_1_4__._{‘5&_/_’_‘.: S N0 e OOD
R o I Ay S—_ =
(A, i) B. 1 C. /
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__\__ 4 \
(f) Choose the correct graph gf g(x) = f( - x) below, )

O A O B.

X
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Answers

ID: 1.5.63
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66.
(a) Graph f(x) = |x + 5| - 3 using transformations. TY
(b) Find the area of the region bounded by f and the x-axis 10'_
that lies below the x-axis. 8-
(a) Graph f(x). 6“]
(Use the graphing tool provided to graph the function.) 4?
2
(b) The area of the region bounded by f and the x-axis that | .
lies below the x-axis is square units. e —r—————A—r——r— B
(Simplify your answer.) e mh 2' Tyt etk
-
S

Answers

10

9 Lm;/ldb\,“ D |
//r:, M //') e '—'/Z N
ID: 1.5.81 \

X PIK = [
(7/ }47‘\_/( =
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67. Find the slope of the line joining the points (5,1) and (8, - 3). K /7/ — == /\5 /5 / ) (Eﬁ "-S )

Select the correct choice below and, if necessary, fill in the answer box to campleté’( ur 3/ Tolce. Y; Y )/{ -‘jL_

/= C ,.L;J——&)

O A. The slope is
(Simplify your answer.)

() B. The slope is undefined. y . / ¥ 5
Ny = S
Answer: A. The slope is airy (Sm'lp lify_your-answer.)

—_— - G TN SlopA
(7= = )
ID:2.1.2 -

\“__‘_ B ————

68. Solve the following equation.

60x — 1200 = - 25x + 3050

The solution set is { }

(Simplify your answer.)

Answer: 50

ID:2.1.4

\
oA — (200 = —¢5 X 20480
60X — /’7% "—/'/Z/t‘*':-f"i ~Z s X #30S0 +[220
69X = 25X A0
O K KK --4/;.(\ —~+ ¥ L350 "‘I‘(\)(
Py = (25O
75 s
FrX . Le2=

-

{5 rs
; /( - | gﬂ, (.) H\\"‘x\“
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69.

| o

41 of 100

(a) Find the zero of the linear function and (b) graph the
function using the zero and y-intercept.

gx)=2x-8

(a) The zero is |
(Type a whole number.)

(b) Use the graphing tool to graph the linear equation. Use

the intercepts when drawing the line.

Answers 4

https://xlitemprod.pearsoncmg.com/api/v1/print/math

o
Ll
o
f=s]
o
ke
" i
o
2
o
.-
=)
=)
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70.
(a) Find the zero of the linear function and Ay
(b) graph the function using the zero and y-intercept. 12'_
104
g(x)=-2x+8 ]
a_
(a) The zerois | . bq
(Type a whole number.) 4~
(b) Use the graphing tool to graph the linear equation. Use '2'_ X
the intercepts when drawing the line. ) AT RO AN S4TSR I S [ o
12 0 8 8 4 2 4 2 4 & 8 10 12
-
-
-6
-8-
10+
2=

Answers 4

\
2 (4 0) K:-Mf,f 7 oy
12 -0 -8 ETlV.Tz;: 6 8 10 12 o= _
_,'_' ‘\f) v )//'“ 3
# (ﬁjcﬁ/u(‘*‘”

ID: 2.1.23

~
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71.
Suppose that a company has just purchased a new

computer for $2800. The company chooses to depreciate
using the straight-line method for 4 years.

(a) Write a linear function that expresses the book value of
the computer as a function of its age.

V(x) =

(Type your answer in slope-intercept form.)

(b) What is the implied domain of the function found in part
(a)?

kType your answer in interval notation.)
(c) Use the graphing tool to graph the linear equation.
(d) What is the book value of the computer after 2 years?

$
(Round to the nearest dollar as needed.)
(e) When will the computer be worth $21007?

EQ ks

(J (..-.

https://xlitemprod.pearsoncmg.com/api/v1/print/math

4200]V%)
—,
. B0
(0)
7 28004
A \
3 .
3 \
@
\
D 14004 :
N =
(9, 00
0 r T T # T T
? 3 5 6 X
Age years)

Jiat fAres ,4 o Jloutey

After year(s) the computer will be worth ( '-r f ' \.}‘
$2100. Y, )
(Type a whole number.) (C) 4 &{0 ) )(I % J ._,] ( 7 ﬁl /{/’ : _X’g )q

X\
Y —

Answers —700x + 2800

(ZFo0) =

(ﬁg,({)'_(‘)( )

o (@) — (%)
T A Zfd\] 17 )<'-k
42001 ¥ |
| ) ~Fad - <J’“/_ ,(,;L,
&j = 2, {:: A '_—( ()(l >
g
Yoz ga0 = ~70 A
g v —Z y oy F g T =00 X~ 8 Jou
PRS- e <
8 44004 (j .- 7 )( 45/6/ }
S~ p
K z T
Age (years)
1400
1
1D: 2.1.51
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i /1
Fo55h %

"~

'{\2/ Factor the gwen polynomral completely Iﬁthe polynomial-eannotbe $actqred say that it is prime.

x? +8x+15 o ﬁ)( 7‘3)6/7‘ 5‘\

Select the correct choice below and fill |nm bb‘xeawn in your ch0|ce /H < ’(

OA 2 ()(xa)(xf&)

X~ +8x+15=

() B. The polynomial is prime. /( '[#{ ¢ A’/ _7(._ ;)/_/ //f\ =
L >,
Answer: A. x> +8x+15= (x+5)(x+3) | /}/ 2 8 2// ¢ a7

Grooed
ID: 2.3.1
—a —— ’. y o
73. Solve the equation. (,]/H G ) /f,}’# 6) )
(x—6)(5x+6)=0 )(‘__.(_' = O (/_f’/( ( ’\/ £ [;_ O

f_ S - '-u . il (__i — _
The solution set is 1 IF. (Use a comma to separate answers as needed.) ] /" E; - (J
67607 6 . S
Answer: 6 6 £ -

"5 ( /i/ (: _1; " - /;:;,

ID: 2.3.3 ~

= p— U — = — e ———————

— — _— -

e ra —— ‘__\.
74. Find t@zgrgs_of.'lhe_quadrati_c function by factoring. What are the x-intercepts of the graph of the function?

F(x)=x? -x - 30 /7,-531-2,9

Select the correct choice below and fill in the answer box to complete your choice. 30 . /
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

. 7
() A. The zeros and the x-intercepts are the same. They are /
B The zeros and the x-intercepts are different. The zeros are , the x-intercepts / O )
O B. are . ) )

IL . 6 ‘ )

X —X=% WE— .
Answer: A. The zer;s and the x-intercepts are the same. They are -5,6 . N
Y T—xX—30 <O

ID: 2.3.17

X rﬂ)(>< &)= O —
Lk Xts 0 Ot ATC=0 e
Krs—5= o5 O ACF(=07¢

AT 0 Q:@,

_______‘_______."J

—
——
——
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é ' Z¢ 5 <5 Jéé{
75. Find the zeros of lhe quadratic function by l"&tormg What are the x-intercepts of the graph of the fun on”
23K Fo /

1 LA —2) =o

Select the correct choice below and f Il in the answer box to complete your choice.

g(x)=2x2 -3x-2

(Use a comma to separate answers as needed. Type an integer or a simplified fractlon ) ) . —
2Xr( = O/ < X—C &
{1 A. The zeros and the x-intercepts are the same. They are & e
i The zeros and the x-intercepts are different. The zeros are , the x-intercepts
- : : 7 \ y (
OB o - 2k~ =U— ] C.-’] rd KL ~0+¢ >UTT
2 =] P e s ™
[ 1 /// - 8_ 3'
Answer: A. The zeros and the x-intercepts are the same. They are - —2-,2 . .
2xX <L L
7. &
_ el
ID: 2.3.19 = ).
-~ ( /k’_ =

———e — = —

76. Find th\:t:"zeros Df the quadratlc functtorwsmg the square root method What are the x-intercepts of the graph of the
functio = —

90 =(x-1)>-9

Select the correct choice below and fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

) A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
are

) B.

Answer: A. The zeros and the x-intercepts are the same. They are 4,-2

ID: 2.3.29 7{%) ({,__/) Z__ 7

45 of-100— 8/7.2019,710:19-AM



finalm1314COCO0147sulllljjRZ-Alfredo Alvarez \‘77 = /\/ -(— If,* )(»f 6" https://xlitemprod.pearsoncmg.com/api/v1/print/math

N dz | cC<§

77. Find the@aal zeros, if any, of the ngdralic fung.ﬂeﬁ' usmg the quadratlc formula . What are the x-intercepts, if any, of the

graph of\hefunchon?{ La~"[/? —ycC .- .;._(6)_“’/11} ({(*)f&‘ -—6_’1‘_(/,_35 12_‘/
Z/C»\ = Z ( ’) 2’ )

kg —n - -6 T /&

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. e )

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

f(x)=x +6x+6 [\

separate answers as needed.) O ( / 'c_/ .3
_ The zeros and the x-intercepts are different. The zeros are , the x-intercepis - . Pl
DA e . - — G TS
. .
(") B. The zeros and the x-intercepts are the same. They are T =
~ 67 2477 —
() €. There is no real zero solution and no x-intercept. or
< — L. + Z lfr 7 <
pa

Answer: B. The zeros and the x-intercepts are the same. They are | =3 + «/_, -3- ﬁ i

-~ \ l/3

/_.’ _
= T 3 o /}
ID: 2.3.39 (-\R:} FV3 \) @ﬂ w &

78.

46 of 100

Find tqeros, if any, of the quadratic function uslng the~quadratic formula What are the x-i/ntercepts i any, of the graph
of the funiction? = &
£r5) - Lot GX-7T

f(x) = 4x° +1 + 6x 6(:3/") L;.:' (.j c= |

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) GZ \,\x,(/(r"l__ .f.r{ '-:{(’"""f"’”’&-'é\_‘
The zeros and the x-intercepts are different. The zeros are __——the x-intercepts “T__'""
O A are . //ﬁ 77 o, ‘KN‘\
( }/'~‘j):+(//v =R y
() B. The zeros and the x-intercepts are the same. They are \\‘ . = /
() ©. There is no real zero solution and no x-intercept. T = AN —

e
o~

/r

P g ~3+45 -3-45

Answer: B. The zeros and the x-intercepts are( /Lhe’éarne. They are 2 ; 2

ID: 2.3.47 ,{/ /5) r(/ﬂ) 7’/9/)/)) */ xj/\/’q _(, TZF

e 8/7049,.10:19AM
~ = _/w’ -
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(I/z/ < /)( “fﬁ? X —7.-
79. Find the real zeros, if any, of thzfollowmg quadratic function usEg the quadratlc formula. What are the x-intercepts, if any,
of the graph of the function?, ] z % C; CaE-e - —
7 S

Vv o+ ] 4 V
G(x) =3x(x +2)~ 2 /_\/,.- L H/ b vd . - -—(’(,) ( fc)‘i kf( 3)( e -G +\/ 6t
¢
Select the correct choice below and, if necessary, fill in the answer box to cgmpfete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expressuon Use a comma to

separate answers as needed.) - é + [/ G‘ c)

) A. The zeros and the x-intercepts are the same. They are 6 + {.- /——
» - s— / 4 X

The zeros and the x-intercepts are different. The zeros are , the x-intercepts —

OB. _ o
' =6 VYT
("3 €. There is no real zero solution and no x-intercept. ’_—(:—_

_3+ﬁ -3-415 — é,‘ :
373 L R(-3+/vE)

Answer: A. The zeros and the xnintercepls are the same. They are
\\

)(, 3 ~+ %
ID: 2.3.4 2

— S
i T
80. Fmd the(real zeros of the quadrattc functlon 'using a(ny method nethod you ¥ Wish. What are the x-mtercepts if any, of the graph of

the function? C,:(,/ 0/)( 7¢/.J,( 1 /\/ é -t L /; ‘_fé"'(' C

(|
|
1

G(x)=8x° +10x-25 A=< § L/ L/L_ E-=—2% e
2 e
Select the correct choice below and fill in the answer box to complete your choice. = / . Sl L
/}/- ~(7°) i’_(L(/U‘/ C/(g)/f: 5 )
(") A. The zeros and the x-intercepts are the same. They are / ( g )
- The zeros and the x-intercepts are different. The zeros are , the x-intercepts
) B.
- are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.) / i /U ~+ /:;—;J ——+ iw——_.
/C

| /: ”/ui ) L/‘;Z.T

ID: 2.3.81 o /6

RV R

/¢ ALY

ye e gk AT

4 ) - (2t

f= =z XS g
A 2 Y
- _._,.L‘_—b-) ‘ ) ?/L)
A4 26 X c//L//

47 of 100 _ e il e il 8/72019,-10:19. AM
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81.
a. Graph the following function using transformations. Ay

b. Find the real zeros of the function. 10
c. Determine the x-intercepts on the graph of the function. 8
= 2 ]
gx)=(x+3)" -9 6
44
a. Graph the function using transformations. ]
2_

b. What are the zeros of the function? e s i — i >

0 -8 G < 2] 2 A 6 8 10

i .2"
(Simplify your answer. Use a comma to separate answers 4'
as needed.) i
c. What are the x-intercepts? %
B
(Simplify your ahswer. Use a comma to separate answers -10-

as needed. Z_—-‘ &
e G60)= (es) 7

P ¢53-3

(_o@puscde _—

Answers

bt €©°)
X~ 1oy ('1,0‘_,

%

0,-6
0,-6
ID: 2.3.89

o
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82.
a. Graph the following function using transformations.

b. Find the real zeros of the function.
c. Determine the x-intercepts on the graph of the function.

f(x) = 3(x +6)> - 3

a. Graph the function using transformations.

https://xlitemprod.pearsoncmg.com/api/v1/print/math

144

2 ’

b. What are the zeros of the function? S,

| |
(Simplify your answer. Use a comma to separate answers
as needed.)

¢. What are the x-intercepts?

(Simplify your answer. Use a comma to separate answers
as needed.)

Answers

.E’{fo) IHLf’ L ’L

[Ty TTTT 'l-r"l—f'r-r-r-r'rT'r'—r'v—r—P
18-18-14-12-10 -8 2 4 6 81012141618

-4 -2
A

/:7 64
3
fo {7(-10—

ID: 2.3.91

T T T T T
4 6 810121416 18

LA LI L |
5421 2
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83.
a. Graph the following function using transformations.

b. Find the real zeros of the function.
c. Determine the x-intercepts on the graph of the function.

Hx) = - 2(x - 4)% +2
a. Graph the function using transformations.

b. What are the zeros of the function?

(Simplify your answer. Use a comma to separate answers
as needed.)

c. What are the x-intercepts?
i

(Simplify your answer. Use a comma to separate answers

as needed.)
Answers Bj\y

1
16 }/]/] VjL_
14
124
8+ V
6..
a- (LI) t)

/( (A {Lq + 6/0) 2 (s;,u)

rrryr T T 7 T
-18-16:14-12-10 -8 -6 -4 -25]

P
6
-84
A0
12
A4
164
18
53 _—
A =
58 uinows o ‘/)' =
: e 5
ID: 2.3.93 { / y TN
— f\.‘ ‘._: —g — e
)(%b( z Ja N
iy = =2 )
,4//’” ( /7 ,,//

o ———— ———
\-/)_______-———— i
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-18-16-14-12-10-8 -6 -4 —22_: 24 6 81012141618

104
A2
14
164
18

: , 7a
s = — 2 (X )ﬂ_\ 7 Z
SW/RTL )

vy g, 1
S
A
TN ),) b,
/CL , . (w]ﬁf |
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84. Find the real solutions of the following equation. (/X *3}&1—}—? i
2 Xt =0 O ‘/)(43 o

2 o aes : 3 T A
8x“-2x-15=0 3 43 =0 t+S il (/("FS"J"ZQ S/

Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

Y —+3
() A. The real solutions are O A S/ X~

(Simplify your answer. Type an exact answer usmg radicals as needed. Use a comma to
separate answers as needed.) K o~ 43 } A~ =S
() B. There are no real solutions. ’Z Vs G . —ﬂ"/

:{““ ) )((: - %ﬁﬁ'\

| 53 l_,

Answer: A. The real solutions are 12 e
(Simplify your answer. Type an exact answer, using radicals as needed. Use a comma to separate answers as
needed.)

ID:2.4.2

85. Match the graph with the following function, i - e
oo g verke < €3
2
f(x)=x" +16x + 64 —_
/,’V\L’/p,x/yi( - / 7) 0)
Choose the correct graph be;[pw.“ e \“‘\ ¢

N I io= T7 = 70 6(/)_" N

) D.

U 34
_j&’u'ﬂ/?"})
Q(_/C_t /\A’“’

A

Answer:

ID: 2.4.15
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86.  Match the function f(x) = x2 - 2x + 3 to one of the given graphs.

Choose the correct graph below.

A

Answer:

ID: 2.4.17

e o o =
_——_—_—__-"‘_‘—-—-.

87. Match the function f(x)= x2 — 4x to one of the given graphs.

Choose the correct graph below.

O B.

Answer:

ID: 2.4.19
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/
/88 1'.
_Graph the function f(x) = x> + 6x + 4 by starting with the 10er
graph of y = x% and using transformations (shifting, 1
stretching/compressing, and/or reflecting). 8-
G-
se the graphing tool to graph the function. n
i
/ ]
/ 2-
| 7 X
| gt e s e e Tl it 2 T
10 -8 6 4 =2 X 2 4 8 8 10
-2
4
&
-
404
p—— 6 - ({ __\\’}
. £ < X F Kt
Answer: %
¢
Y ) "]"h" vyt o i &
c/
ol ! .’x_: j( j/kﬂhhﬂj \ .
10 -8 & 1o J.r“
C IR /C—V\ - ____,-r"’/
L — .
v/ - N ATy
I -
_P_____,_,._ﬂ-r"
ID: 2.4.25 i
2 )( —pin -~ — / 1 o
K=t - (L \
lo.r‘ }47‘!") - -'/’J
\\\‘_- f/ 2 o
——— —
-

53 0f 100 8/7/2019, 10:19 AM
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89.

540f1b —

https://xlitemprod.pearsoncmg.com/api/v1/print/math

Graph the function f(x) = - x + 2x by starting with the graph i
ofy= x2 and using transformations (shifting,
stretching/compressing, and/or reflecting). 16+
12
Select all the transformations needed to graph the given ]
8
function using y = X2 1
4]
[ ] A. Reflect the graph about the x-axis. ] X
frrrrr T LRI L T T L AP LT R
(] B. Shift the graph down 1 unit. 20 -16 12 -8 4 3 4 8 12 16 20
=
[] €. Reflect the graph about the y-axis. 1
[] D. Shift the graph to the left 1 unit. -6
(] E. Stretch the graph vertically by a factor of A2
1. 1
2184
[] F. Shift the graph up 1 unit. g
[] G. Shift the graph to the right 1 unit. -20-
[[] H. Compress the graph vertically by a

factor of 1.

Use the graphing tool to graph the function.

Answers A. Reflect the graph about the x-axis., F. Shift the graph up 1 unit., G. Shiiha«graphtﬁ' the fight tunit—___

20]

1|3-j

121

8+

41—.

W~ pmbapn L (©o)
20 -16 12 8 4

i <ﬂﬁfr—/ = (X f}
P e 7
— ___-———"f" == - A)(’}' ‘\
E\[/,'/l’/" /o )( (S )
(\I V)

(2.,0) )(*lvu\-t--w-‘
T Lol ey

BRI o B
8 12 16

20-
bravs
ID: 2.4.29-Setup&Solvef/')r. )/ }’V‘I") it o / Zx
R ot ~ e = —

Y5 — =2

g A = /o

P el 8/7/2019, 10:19 AM
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90. Q‘«W
vtm
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"y
/ For the quadratic function f(x) = X2 - 2x - 8, answer parts (a)
" through (c).

nY

(a) Graph the quadratic function by determining whether its 12-
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. 8-

Does the graph of f open up or down? 44

up -Lj.ii l .1I6 | .{ZI I '-8. l I-fi. . I'. ¥ 4 ! él . .II-_’l I 'h'i : .'.'{G

down
What are the coordinates of the vertex?

The vertex of the parabola is .
(Type an ordered pair. Use integers or fractions for any 16
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is )
(Type your answer in interval notation.)

The range of fis )
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type vour answer in interval notation.)

56 of 100 8/7/2019, 10:19 AM
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Answers up
(1,-9)
x=1
A. The x-intercept(s) islare . 4,-2 . .
(Type an integer or a decimal. Use a comma to separate answers as needed.)
A. The y-intercept is - .(Type an integer or a decimal.) ___r Z % — J )
( r? z) /
20
1]

121

(9, ) ){"/ﬁ/ﬂ.?//

8 12 16 20

/f/ A eqlt (4

................

b T u S
Lf..r' 74 e vir \‘F A SA _5!«"”‘;)5’}“"’) \
Celealdr

(- 00,00) L\:r'//l;'f"(/ v W)’ — \"Q.\ (;Ir = ) / C e
[-920) —Min =~ (L |
[1,0) , o A
(= oo] X—Max < /L 4
. . "/‘9
ID: 2.4.37 9 /V;? f T
g~ Pix =1 :
R R — - T ‘_————————%___a\‘
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91,

58 of 100

For the quadratic function f(x) = - 22 +2x - 3, answer parts
(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

The vertex of f is
(Type an ordered pair.)

The axis of symmetry is
(Type an equation. Simplify your answer)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is
(Type an integer or a decimal.)

(O B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

() B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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(1) O up.
) down.

Answers (1) down.

3

1
X=2

A. The y-intercept is : -3 '.(Type an integer or a decima

B. There is no x-intercept.

ID: 2.4.43
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92.

below.

10

(3,-10)

((/) "‘)Jtﬁ

- 12 2(7‘(\“—»)7/’/"]: X

hitps:/xlitemprod. pearsonemg.com/api/v | /print/math

AL T Ny v

Determine the quadratic function Whose graph is g QWEN = The quadratic function which describes the given graph is
) = =3 ~/j ) = I /0 /)
Ay (Type an expression.) )

-1z &(0-%) —u
-z &{=y) =)o
| =

r——“\ ] ()( 3)_/_7
/- ((%»%)(ﬂ e
((X T Y o At

y (()( ~Gx+S ]/
=X+ ] /2

K(~7)(3) —¢
-1z & (ﬂi)-*/

.-\ = CT A —1 2

yd"l‘/m/’ ] (3,’/4_") 9= T4 / ﬁ
| bof, A <Ay > X — | -
Answer: 2 _gy — 1 ) 4o ¥ .,‘A 9 i
/ v antll

ID: 2.4.49
Bl ~ “' ﬁ_—-__—‘-——'——
93, 9 - ax “{_!”/7‘ -
Determine the quadratic function whose graph is given The quadratlc function which describes the given graph is

below.

ID: 2.4.53

\\
—/66{‘ G hy (L} AN
éi\ jzé /6) Ty

/64 +vb /6
FA—9t =32
29a+0 =17
29 a=97
zyra ~ ZL

/ 4
60 of 100 i
e

/”’D-SJM /64 + 457

f(x)= |

(Type an expression,)
= G(0)5+ bpy) +C = -3
070 +¢C = -3

=9

(g -y T2 Poat

= R o & et
V= Gal¥)"+ b(¢)—3 “ﬁ‘?//}) Yoo 4
al@e)(A+ b(y)-3 <13

/6 & —+ b ~3<13

\
/(m—r/w,;ms
/4R +‘/b /63

)
Y al- )¢ < bfi)-3< 13 ("Z//}) d,;
(- )(-1)~+ br2)-3 <173
Yo -—Lb“3a’? e,
,.(tfx—‘ 2L = (377
D %6 —25 =/ D I Sho<”

/6(2) + Y6 = /C
3L~ b =l
3/(_'(_‘/!’ "3{7’ /(~3 ¢

ZféL ~4¢/” =

e

8/7/2019, 10:19 AM
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94. Determine, without graphing, whether the glven quadratic function has maximum a!ug or a minimu .valﬂeﬂhd.ﬁhen ﬁn
the value. Jvfﬁ ﬂ C )ﬂ/_‘/’ ’ v 4 3

fx) = -3x%+12x-8 l((,(,/sz - / ) __‘--/ ,,r.._

Does the quadratic function f have a minimum value or a maxqmum/value" \

() The function f has a minimum value.

(> The function f has a maximum value. %/) S f’X : B ( 4 J(/ — 2\}

YVhat is this minimum or maximum value? a — } / o / Z = __(j/
!
(Simplify your answer.) . / ( [2)
Answers The function f has a maximum value. / (-3 ) 2 (/ %

4

forle, = /— IL /L«
ID: 2.4.59 b ) . 6 /Z(—F(j_q))
o 7
Ve le - (C// %/fx))
e //i < /Y, B U )P
Vo / /(/ 306 NY) +12Cy)-3)
it 5 = /9 ~J(76) +12(%)—F)
Vv dae h(c/ ~ P $T7—3F)

L/r"”, / /, = ( Z - )7) N PES

7 frex
Vi £ " L
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———

— ¥ ~
95. Find tthe quadratic function. Graph the function and label the intercepts.

f(x) = x° - 14x + 58

The zeros of the function are l

(Simplify your answer, including any radicals and i as needed. Use integers or fractions for any numbers i
Use a comma to separate answers as needed.)

e expression.

Choose the correct graph below.

ID: 2.7.13

(/L- AT EAYE

62 0f 100 .

—_— 8/7/2019, 10:19 AM
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96. Use transformations to graph the function h(x) = |x - 5].

Choose the correct graph of h(x) = |x — 5| below.

O ¢ \\
\\
?
s ' ' ,--/f’{
(M 54 ?g.fm}/)h"‘) \74,/
Answer: C/C~ /( b ( J‘r —
(o it

Yz fco By oy

-U// = c.‘[;_ii Xzi{) __

X/VV\‘-‘» - _'/L
{— My z [k

ID: 2.8.6 4 e
e —— */K_‘kﬁ;x:-—— — =
97. Find the real solutions of the equation. ‘g./ A
|9x +6] = / /
Select the correct choice below and fill in any answer boxes within your choice. / )
) A. The solution set is { } (Use a comma to separate answers as needed.) 3

() B. The solution set is all real numbers. /{/ -~ — é\ )A

_) €. The solution set is the empty set.

S
! rias 1? [ (Use a comma to separate answers as needed)
ID: 2.8.19 /C]‘)(—f(/ - 7
GHrg==7 O TR S
GAb—6 = -7 I G~ K~ 7 ¢

& - / }) -- e —
ri;:/( o ~12 2 =
ST g

100-

e

8/7 10:19 AM
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98. Solve the absolute value inequality. Graph the solution set.
|3t-7|<5
Select the correct choice below and fill in any answer boxes within your choice.

() A. The solution set in interval notation is .
(Type your answer in interval notation. Use integers or fractions for any numbers in the
expression.)

() B. The solution is the empty set.

Graph the solution set. Choose the correct answer below.

A, ) B.
<t b ——— > e | —|—— {p—
- 0 2 4 -4 -2 0 2 4
e (D
%ﬂ—l—!—{—& ﬂ—-l—{—i—l—l—t—H—l—)
-4 -2 0 2 4 -4 -2 0 2 4
O E. OF .
e e e i i <ttt s
4 ] 0 2 4 -4 -2 0 22 ~
r/_ v Flae l
|
: ) a
Answers A. The solution set in interval notation is [5,4] s / X < a
|

r any numbers in the expression.)

& <L o< < e ,____/r

(Type your answer in interval notation. Use integers or fractions

ID: 2.8.49
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99. Use the rational zeros theorem to find-all théq\al zerq;lbf the\go[ynomlal funchon Use the zeros to factor f over the real

numbers. f."’.:-(’ - 1_; }’(“ L)( ‘—“j"/( - é

f) = x> +2x% - 5x -6

Find the real zeros of f. Select the correct choice below and, if ‘necessary, fi fill in the answer box to complete your answer,
_-_—\*-\

) A, x= &Vt >/( SV7 “© _,LK( {(( (x!l(// S/‘/v e R

—_— =
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or
fractions for any rational numbers in the expresswn Use a comma to separate answers as
needed.) —

-‘ﬂ\\--.,_
(0 B. There are no real zeros. (/ / /f? /)/ = o ( ; \9

Use the real zeros to factor f. e == =

f0) = |
(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expression.)

Answers A. x=! =3, =-1,2 |
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as heeded.)

(D=2

— *I.-'\/ 2 — 5 — é

= o =}

ID: 3.2.45
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frvel ()( -l — WX =SOL+F

100. Use the rational zeros theorem to ﬁnel Il the real zeros of the polynomial function. Use the zeros to factor f over the real

numbers. ) } l a9 —_J 70 ﬂ()?
BV AN
f(x)=x4+10x3—20x2—90x+99 e ‘ T = =% (L »‘. (7 b

What are the real zeros? Selecldﬁ'ec yrrect choice below and, if necessary, fi II in the answer box to complete your
answer. 7 5 A J ( — 51‘ c!‘
g ) ¢ & - 4
DA x= g IV D
(Simplify your answer. Type an exact answer, using radicals as needed’ste integers or
fractions for any rational numbers in the exp;essnon Use a comma to separate answers as

needed.) _f /t/ /{/ " j,( .
(_ < 9 22 (st ) o

Use the real zeros to factor f. : B _ " i =
f(x)=
(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers

or fractions for any rational numbers in the e«aressmn) é — J O’A )("' (( —'_(f Zo—t (
- '___“*“\-‘ e

Answers A. x= -11,1,3,-3 f)( "'K\ 4 O% ﬁ I ‘]

(Simplify your answer. Type ah_exact answer, usmgr__gcilgals-as needed. Use integers-or-fractions-for" any

T
rational numbers in the expression. Use a comma to separate aniwer:.s/ as needed.)
A

(x+11)(x— 1)(x+3)(x—-3) — . I
e %, =R =g N
§ 23 Y

ID: 3.2.53 s —

—_— e

— — 3 e,

e ——— —————

e T =z Y

(7) B. There are no real zeros.

101. Solve ttlg'eQUafiEm'_in the real number s)-'stéin. -—'—J’

————— \—F/(’/'/ r ——-2/7 2 g?/ -_ ‘;/
5x* - 26x> +45x% - 28x+4=0 . T — -
S /'Z/( (i‘r" a— (/)jr"(;/'__‘
What are the real solutions of the equatlo(? Select t}le correct choice below and fill in any answer boxes in your-choice.
4:— 'y -2 | — /
—7 l
O A x= — (P < 5

= =1y )
(Simplify your answer. Type an exact answer, uslﬁg radlcals as needed. Use mtegers or @)/' re b
fractions for any numbers in the expression. Use a comma to separate answers as needed.
Type each answer only once; do not duplicate answers in the case of repeated roots.)

() B. There are no real solutions. S )/ =it X = & =2
(> — | ) K — é) =
1 S — [ = . X—¢
Answer: A.x=  £,2,1 5 X / U Ol
Py — SY— ) =7/
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
numbers in the expression. Use a comma to separate answers as needed. Type each answer only once; do

not duplicate answers in the case of repeated roots.) %'__ 7 i é — C.)—f' (
ID: 3.2.67 ¢ . ol i ()/L< ){Fj\

- ___________, /Z(/,«
-y B

)
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- = )
102. Find ug'e domain 9f’fhe following rational function.

RX)=+12

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The domain of R(x) is {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of R(x) is the set of all real numbers.

Answer: A. The domain of R(x) is {x | x#=-12 |}
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.)

ID: 3.4.15
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103, 5x2
For the function F(x) =

, (2) graph the rational function using transformations, (b) use the final graph to find the
X

domain and range, and (c) use the final graph to list any vertical, horizontal, or oblique asymptotes.

(a) Choose the correct graph below_._

(b) What is the domain of the given function? Select the rrectchoice below and, if necessary. ill in the answer box t ¥ "‘)
complete your choice. T -
s L } ’\ {

() A. The domain of the given function is {xlx is a real number, x> : — AN C"J
(Type an integer or a simplified fraction.) \ l t\t

) B. The domain of the given function is {xlx is a real number, x < }
(Type an integer or a simplified fraction.)

LC. Thgdomain of':the given function is {x|x is a real number, x #

(Type ar nﬂeger or a simplified fraction. Use a comma to separate answers as need k
v
\

(O D. The domain of the given function is the set of all real numbers.

What is the range of the given function? Select the correct choice below and, if necessary, fill in the answer box to
complete your choice.

&A. Th [':’a;lge,dt the given function is {y|y is a real number, y < 5 }
(Type-an integer or a simplified fraction.)

() B. The range of the given function is {y|y is a real number, y > /”}.
(Type an integer or a simplified fraction.)

C. The range of the given function is {y|y is a real number, y #
(Type an integer or a simplified fraction. Use a comma to separate answers as needed )

D. The range of the given function is the set of all real numbers.

(c) What is/are the vertical asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to
complete your choice.

A. The left vertical asymptote is . The right vertical asymptote is S
. I/" ’ \ \
_AType equations. Use integers or fractions for any numbers in the equations.) / : ) )(-" K \ S ,}
M'B. Thereisons sVertical asymptﬁte. Itis = C J’ M Y
(Type { n-equation-Use integers or fractions for any numbers in the equation.) )/

C. There is no vertical asymptote. e

What is/are the horizontal asymptote(s)? Select the correct choice below and, if necessary, fill in the answér box(es) to
complete your choice.

O A. The tob horlzontal asymptote is . The bottom horizontal asy_nlpttlte is

o

QB Auri= A s yrpb /(( 7
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(Type equations. Use integers or fractions for any numbers in the equations.)

What is/are the oblique asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to complete

your choice.

A. There is one oblique asymptote. Itis ;
(Type an equation. Use integers or fractions for any numbers in the equation.)

B. The oblique asymptote with the positive slope is and the oblique asymptote

with the negative slope is .
(Type equations. Use integers or fractions for any numbers in the equations.)

C. There is no oblique asymptote.

(oot

-20 20

20
Answers B.

C. The domain of the given function is {x|x is a real number, x# 0 p.
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A. The range of the given function is {y|y is a real number, y <.

(Type an integer or a simplified fraction.)

B. There is one vertical asymptote. It is x=0
(Type an equation. Use integers or fractions for any numbers in the equation.)

B. There is one horizontal asymptote. It is y=5
(Type an equation. Use integers or fractions for any numbers in the equation.)

C. There is no oblique asymptote.

ID: 3.4.43
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104. Find the vem(%al hcnzontgl and oblique asymptotes. if any, for the following rational function.

N_H_\_

10x T
x+10

R(x)=
Select the correct choice below and fill in any answer boxes within your choice.

() A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

() B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

) A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

() B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

O A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

() B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = =10 .(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 10 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

/X
ID: 3.4.45 /ﬂ)(// - ,_}-(;— ¥ _—

A ,X{//C’ NI
/( f/ ~f gy = /<

'\ =

“ ) ) Taz
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105. Find the vertical, horizontal, and oblique asymptotes, if any, for the given rational function,

8x? +6x-9 - ( ?‘( e ?’/(/27‘*’(‘ 3) Gl }
2x+3 ( I )(ff/,t«}) 7

Select the correct choice below and fill in any answer boxes within your choice.

R(x) =

A. The vertical asymptote(s) is/are x =

(Use a comma to separate answers as heeded. Use integers or fractions for-any numbers S
/m 1the expression.)

; *(Pé\’ There is no vertical a;y;n_;tote . /ﬂﬂ? Z_ (7/ )( 5

C e e " =

e e
Select the correct choice below and fill in any answer boxes within your choice.

: ‘ C+
(/W . / / (
) A. The horizontal asymptote(s) is/are y = 7 5 / V‘V/ /

(Use a comma to separate answers as needed. Use mtegers or fractions for any numbers
.inthe expressmn ).

Q/B “THére is no horizontal asymptote

/L/U AU’/’ )(./“)J (( \
G S rppbede

C

Select the correct choice below and fill in any answer boxes within your choice.

A The oblique asymptote(s) is/are y =

(Use a comma to separate answers as needed. Use integers or fractions for any numbers
in the expression.)

C/-:'{:EI._'TherE ié?o?ﬁii_du—e_a%ptote; - ﬁgﬁm“\_\

Answers B. There is no vertical asymptote.

-~

B. There is no horizontal asymptote.

B. There is no oblique asymptote.

ID: 3.4.53
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106. The concentration C of a certain drug in a patient's bloodstream t hours after injection is given by

Ch=
+5

(a) Find the horizontal asymptote of C(t).
C= | (Simplify your answer.)

Determine what happens to the concentration of the drug as t increases. As tincreases, what value will C(t) approach?

(b) Which graph below is the graph of C(t), as displayed on a graphing utility? All four graphs use the following limits:
[0..22] by [0, 0.45], Xscl = 2.2, Yscl=0.05.
S d St

U}“” O B. O ¢ O D.

(c) Determine the time at which the concentration is highest.

t= " hours
(Round your answer to two decimal places.) / i
L~
Answers 0 i Uﬁg /{ -~
0 L ~
(L") 22

o .

L £t
2.24 | _/_ j i/c/AM,
ID: 3.5.63-GC Ivt” < € = - C - /ch’f;;:}f;:"
L __H)/_/){ /' P— ?A’ _S__ _/"
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107. Evaluate the following expression, if possible.

129634

Select the correct choice below and fill in any answer boxes in your choice.

A 1296%/4 =

B. The solution is not a real number.

Answer: A, 1296°/4 = 216

ID: Quick Check P4.1.10

= 3/
4
2
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108. For f(x) =7x+5 and g(x) = 8x, find the following composite functions and state the domain of each.| _
(@ fog  (b) gof (© fof @ geg  (fe 9/ w% -
\, I,-“ 3 . g ] /
@) (fo g)(x) = (Simplify your answer.) A 9¢4))- ( (—' o 2 /&/
- Lr o -
4 ( .r",-‘ s P I
Select the correct choice below and fill in any answer boxes within your chaice. °/ ( j )() LY = /-",_..-
e 7
- -~ o '\ L
() A. The domain of fo g is {x | } e 56 X T
(Type an inequality. Use integers or fractions for any numbers in the expressmn Use a
comma to separate answers as needed.) ( (‘ . ) ,_(’; ) =
() B. The domain of f o g is all real numbers. p /"' ' ) Pl .\2}.‘
.,)(ff'-"fj) A LA |
(b) (go H(x) = (Simplify your answer.) j ( 7;{. s ) : ) /
L ; W P,
Select the correct choice below and fill in any answer boxes within your,choice. - - O// P
/ L 1S ) e
() A The domain of g o fis {x | }. e~ )% X~ é/\_) =
(Type an inequality. Use lntegers or fractions for any numbers in the express:on Use.a~ ol
comma to separate answers as needed.) 7 )
() B. The domain of g o fis all real numbers. "'r'jr{ i A ).") ~
(©) (Fof)(x) = (Simplify your answer.) ( '{-"vc’}) ¢
Ll Pitda ‘ N
Select the correct choice below and fill in any answer boxes within your; cho:ge /ig" 3 ) /( ' \u
ld \\-- » ig kLlA‘A”\ J[
() A. The domain of fo fis {x | } /( ’?X'-f' y ) ¢ 3 pu . /',f'
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a ( . Oj’ ,’/J/
Lt P
) comma to separate answers as needed.) (1 3 X~ f 5 e = ‘““n% / -
() B. The domain of f o fis all real numbers. T - =3
c'x&__ { ﬁ )( ~T L/ Q = 5/
(d)(@eg)x) = (Simplify your answer.) A
Select the correct choice below and fill in any answer boxes within your choice.
’ J P (_| £ })\J ll. ~
() A. The domain of go giis {x | . \ ) AR/
(Type an inequality. Use |ntegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.) e ( . )
() B. The domain of g o g is all real numbers. ; j (}())
(7<)
Answers 56x + 5 - /,'
B. The domain of f o g is all real numbers. 2} ( )/)( ) - /
56x +40 ——
B. The domain of g o f is all real numbers.
49x + 40
B. The domain of f o f is all real numbers. -
64x \"'nr
B. The domain of g o g is all real numbers. '
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108. For f(x) =8x+6 and g(x) = x2, find the following composite functions and state the domain of each. -
@ fog  (b) gof (© fof d) gog (¥ )/’ ’I | h
;'.— )} - (;_j -: m [Ny J
(@) (fog)x) = (Simplify your answer.) '

Select the correct choice below and, if necessary, fill in the answer box within your choice. //
Llpiiets, s
)( =, =
(0 A. The domain of fogis {x | - ¢ > —

(Type an inequality. Use |ntegers or fractions for any numbers e the expressmn Use a

comma to separate answers as needed.) ) ’(,
@ot
{1 B. The domain of f o g is all real numbers. J
( L)) =
b} (@ofHx) = (Simplify your answer.) ( J L€ ) :

Select the correct choice below and, if necessary, fill in the answer box within your choi

(7 470

l@rv? G

() A. The domain of gofis {x | ¥
(Type an inequality. Use mtegers or fractions for any numbers in the expressmn Use a M /V %
comma to separate answers as needed.) /{»; {7 L:« ) ( a A/,f 6 } 7 /_,-f)'
(") B. The domain of g o fis all real numbers. i W e 3
(A ,_7/. o+ I T2E T

©) (Fof(x) =| (Simplify your answer.) QO \{ )( + (, C A );( = (—:‘//f

Select the correct choice below and, if necessary, fill in the answer box within. you; chou:e

gﬁ 9 * f){_'"/'
() A. The domain of fofis {x | ).
(Type an inequality. Use integers or fractions for any numbers in the expressmn Usea - .
comma to separate answers as needed.) A ( / ( A; ) N

\
(1 B. The domain of f o fis all real numbers. /( ?)(_/_ () u QVL/(’.\ A ‘ :)
d) (g o)X = simpl : 212 . {_ _
d) (oK) | (Simplify your answer.) (f/-/ é )-f~ L - Of /)/‘2

Select the correct choice below and, if necessary, fill in the answer box W|th|n your choice. N — __;;-*”

C¥XAKTT e =
(A Thedomainofgogis{x| } C oYXt g—\./ = .
(Type an inequality. Use integers or fractions for any numberMpression. Usea —— =
comma to separate answers as needed.)

() B. The domain of g o g is all real numbers. ﬁ ", 6)/]/\{')

Answers 8x> +6 ? ( ) ('{\0

B. The domain of f o g is all real numbers.

64x° + 96x + 36
B. The domain of g o f is all real numbers.
64x + 54

B. The domain of f o f is all real numbers.

4
X

B. The domain of g o g is all real numbers.
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O

v
\/.

The function f(x) = 3x — 1 is one-to-one. Ay
(a) Find the inverse of f and check the answer. 20
(b) Find the domain and the range of fand f 1 16
(c) Graph f, f~ ! , and y = x on the same coordinate axes. 121
—1 8]
@f (x)= :
(Simplify your answer. Use integers or fractions for any d-
numbers in the expression.) ] x
| LA L L L L L L O L
) ) ) 20 16 -12 8 4 1 4 B 12 16 20
(b) Find the domain of f. Select the correct choice below and, if oh
necessary, fill in the answer box to complete your choice. .
-8
2 A. The domain is {x|x2 } 5]
) B. The domain is {x|x# }. 6]
= L. 1
) €. The domain is {x|xs }. s0]

() D. The domain is the set of all real
numbers. - = = Y

: S — | /

Find the range of f. Select the correct choice below and, if )(/ s ! .J
necessary, fill in the answer box to complete your choice. A ' )

() A. Therange is {y|y¢ } \ /
' B. Therangeis {yly= >. Ly (j 7 = ( k Ver X’L/

() C. Therangeis {ylys } ) N —T

) D. The range is the set of all real numbers. { 3 p} o /,_// 1y _l/{'_-;'f
)( —f LV
Find the domain of f 1 . Select the correct choice below and, if ‘7
necessary, fill in the answer box to complete your choice. i, e
X | J
() A. The domain is {x|x# A ~ o
| 3 ) Y 2

(’_) B. Th ol A < . X - T o

e domain is {x|x } K _"Ld X =
) C. The domain is {x|x2 - } ) 3

D. The domain is the set of all real ’
numbers.

Find the range of f~ 1. Select the correct choice below and, if 4
necessary, fill in the answer box to complete your choice. i ]

() A. Therangeis {y|y¢ - ] } /}/"/1'

) B. Therange is {ylyz } ( )
C. Therangeis {y|ys } ——
D. Therange is the set of all real numbers. P

1

(c) Graph f, f~ ', and y = x on the same coordinate axes. Use / 2 [
the graphing tool to graph the functions.

90f100_ —e = " 8/7/2019,10:19 AM
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i x+1
nswers —

D. The domain is the set of all real numbers. e )
D. The range is the set of all real numbers. , \ //
D. The domain is the set of all real numbers. ”;, WL , ,_4-( N j

7 P 5 /
D. The range is the set of all real numbers,.{'fA i < )‘L//

A i" (’ 3 < ¥ LI ‘r\ P )
20— e ______..--’” e ) |
R -f,[ /
- ‘//j A
O
- -~

ID: 4.2.53
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111,

81 of 100

6
The function f(x) = 5+ x is one-to-one.

(a) Find its inverse and check your answer. (b) Find the domain and the range of f and f ! ;

(a)f 1 (x)= (Simplify your answer.)

(b) Find the domain of f. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A, The domain is {xlxs 3.
(Type integers or fractions. Use a comma to separate answers as needed.)

) B. The domain is {x|x# }.
(Type integers or fractions. Use a comma to separate answers as needed.)

(0 C. The domain is {xlxz }
(Type integers or fractions. Use a comma to separate answers as needed.)

(O D. The domain is the set of all real numbers.

Find the range of f. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The range is {yly;»e }
(Type integers or fractions. Use a comma to separate answers as needed.)

O B. The range is {ylyz B }
(Type integers or fractions. Use a comma to separate answers as needed.)

(0 C. Therangeis {y|y< B ,,,,}'
(Type integers or fractions. Use a comma to separate answers as needed.)

(O D. The range is the set of all real numbers.

Now, find the domain of 1. Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

O A. The domain is {xlxs }
(Type integers or fractions. Use a comma to separate answers as needed.)

O B. The domain is {x|x2 ] }
(Type integers or fractions. Use a comma to separate answers as needed.)

(O C. The domain is {xlx# }
(Type integers or fractions. Use a comma to separate answers as needed.)

() D. The domain is the set of all real numbers.

Find the range of f ! . Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(O A. Therange is {ylyz - ’;}
(Type integers or fractions. Use a comma to separate answers as needed.)

() B. The range is {y|y< -k
(Type integers or fractions. Use a comma to separate answers as needed.)

() C. Therangeis {yly# }
(Type integers or fractions. Use a comma to separate answers as needed.)

{7 D. The range is the set of all real numbers.
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Answers

6 - 5x

B. The domain is {xlx # .

(Type integers or fractions. Use a comma to separate answers as needed.)

A.Therangeis {yly#lI‘}.

(Type integers or fractions. Use a comma to separate answers as needed.)

C. The domain is {xlx# 0 |

(Type integers or fractions. Use a comma to separate answers as needed.)

C. The range is {yly #.

(Type integers or fractions. Use a comma to separate answers as needed.)

ID: 4.2.63
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112.
Use transformations to graph the function. Determine its Ay
domain, range, and horizontal asymptote. w'_
3.
f(x) =65 +1 ,
6-
Use the graphing tool to graph the function. ,
(For any answer boxes shown with the grapher, type an 2:
exact answer.) .
fo 8 6 4 2 571 8 6 1o
What is the domain of f(x) = 6% + 1? ! ’ ) v o
e — =i}
(Type your answer in interval notation.) ]
-6
What is the range of f(x) = 6° +17? &
( ]

(Type your answer in interval notation.)
P ¥ )
. . X L S "
What line is the horizontal asymptote of f(x) =6~ +1? /{ (} - é ”f \/ { y'a

(Type an equation.)

Answers
¢y 18)
fol 5 6 4
wx& +Y )
/
P S ___J_f,-:-”"
/ ¢/{ J v .
(- 00,00) N =3
(1,00) _{‘r” 1 ) { _/ L \
y=1 )(,_- oy I \
ID: 4.3.43 7/ Piro =~/ ,--‘:\_
. X = 7o /)
\, //,
\xt | ////
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i ) — l{ AV /’ s
113. Solve the equation. iy P 2N .
d ~ S’)K»H 3o <X =
32—x+26=256x ) =75 —f 3
” 5 —

The solution set is 1 = ~ e )( “y
So < IX, /C,/

(Type an integer or a simplified frachon Use a-com ! (oseparate answers asneeded)
~s5® FlEoA B = Ig= (30—
Answer: 10 _,S )( - Z /(’_/3 =
—~s{ —3X < Bx—(3s> —A&X
ID: 4.3.73 - —1 ;{) )( —_ /-3 = ) . o

114. |If a single pane of glass obliterates 3% of the light passing through it, the percent p of light that passes through n
successive panes is given approximately by the function below.

p(n) = 100(0.97)"

(a) What percent of light will pass through 10 panes?
(b) What percent of light will pass through 20 panes?
(c) Explain the meaning of the base 0.97 in this problem.

(a) The percent of light that will pass through 10 panes is approximately %.
(Round to the nearest whole number as needed.)

(a) The percent of light that will pass through 20 panes is approximately ' %.
(Round to the nearest whole number as needed.)

(c) Choose the correct answer below.

() A. Each pane allows only 0.03% of light to pass through.
() B. Each pane allows only 0.97% of light to pass through.
() €. Each pane allows only 97% of light to pass through.
() D. Each pane allows only 3% of light to pass through.

Answers 74

54

C. Each pane allows only 97% of light to pass through.

ID: 4.3.105 /,{}1] - /W /ﬂ‘ (/ﬁ7)/\/ = '
[r70) =102 (0:57) 73746 1767 5=

/() /00 (0-57) ’"(S ‘/.3/ G53Yy 15 -

o oA
SY )

o
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115. The price p, in dollars, of a specific car that is x years old is modeled by the function below.

p(x) = 22,285(0.91)*
(a) How much should a 5-year-old car cost?
(b) How much should a 8-year-old car cost?
(c) Explain the meaning of the base 0.91 in this problem.

(a) A 5-year-old car should cost approximately $
(Round to the nearest whole number as needed.)

(b) A 8-year-old car should cost approximately $
(Round to the nearest whole number as needed.)

(c) Choose the correct answer below.

() A. As each year passes, the car is worth 0.91% of its value the previous year.
(") B. As each year passes, the car is worth 0.09% of its value the previous year.
() C. As each year passes, the car is worth 9% of its value the previous year.

() D. As each year passes, the car is worth 91% of its value the previous year.

Answers 13,907
10,480

v -y
///?9?* (0:9)°
r” z 7/(/ )7/.7 Obe STELEITT
_”’g) 4 “*Z Iﬂ._(‘)‘ L ;.._,,/

'/3907 D

. m J— \

/7(27) =*2¢ Zif/é )
/0475, 57767
ot
/C g / o
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116. The percentage of patients P who have survived t years after initial diagnosis of a certain disease is modeled by the
furiction P(t) = 1000.3)". '
(a) Ac_éording_to the model, what percent of patients survive 1 year after initial diagnosis?

(b) What percent of patients survive 3 years after initial diagnosis?
(c) Explain the meaning of the base 0.3 in the context of this problem.

(a) According to the model, % of patients survive 1 year after initial diagnosis.
(Type an integer or a decimal.)

(b) According to the model, % of patients survive 3 years after initial diagnosis.
(Type an integer or a decimal.)

(c) Explain the meaning of the base 0.3 in the context of this problem. Select the correct choice below and fill in the
answer box to complete your choice.

) A. Aseach year passes, % of the previous survivors take the diagnosis.
() B. Aseach year passes, % of the total patients have survived.
() C. Aseach year passes, % of the previous year's survuvors have survived.

/’-

A1) (00 (0-3) (30 5 “ant

Answers 30

27

C. As each year passes, 30 \% of the previous yeal‘s surwvars avesurvived..

- 00 0-3) 2 |
ID: 4.3.109 /7 ('b) [0 (L-- > 7 :

117. The functinh'_ .

e .

(, D(hy=8e ~05TN

\"‘-h-.

can be used to find the number of milligrams D of a certain drug that is in a patient's bloodstream h hours after the drug
has been administered. How many milligrams will be present after 1 hour? After 10 hours?

After 1 hour, there will be milligrams. (Round to two decimal places as needed.)

: o b
After 10 hours, there will be | milligramﬁijf\{ﬂel{u@ to two decimal places as needed.)

Answers 4.52 !D (\) = 2/ C 4( '—& . §-7 /’3
0.03 .- Z?‘, }"é_ (_/ 20 3 / ‘_L/;,

ID: 4.3.111 = — = _ \
/’of; _ij_(_
0 (o d@=0s70) .,
C= 050267677237 )
- ’ I { < A k/
860f100. [ (i{_;t & 7 03 :/" jﬁf 81712019, 10:19 AM

e =f = ————— e — e
et -h""‘"'!q__—d_'___ _— ==
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118. Find the domain of thefunction. d -
\ _-4/’9 X. - G \> L\‘_-‘

CUIM Gy

- .
L= Do (Arep
FAA A1 >, /)
- e \\,\ /!

Answer: (6,00) /‘*“‘ = T B — J/

ID: 4.4.39 (--__ﬂ_______-——

= — —

9= In(x-6)
. . - 7
The domain of g is I /( 67 {{- —-QHLE

(Type your answer in interval notation.) (/)(/ G : "“}

119. Solve the following equation.

loggx =2

The solution set is { b

(Simplify your answer.)

Answer: 81

ID: 4.4.89
PR sttt RO

120. Solve the equation.

log 5(2x+3)=3

Change the given logarithmic equation to exponential form.

(Type an equation. Do not simplify.)

The solution set is { b /;Z ¢ Zf Z - C?,\( ~ s

(Simplify your answer. Use a comma to separate answers as needed.)
ANSWers oy 4+ 3 =2° ’Z = (X-¥ 2
5 4 i y - -
2 =7 = '+ 7oA
ID: 4.4.91-Setup & Solve § = <

?__.»::‘— -
o<
p 2
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121. Solve the following equation. Write the answer in terms of the lialural logarithm. / ( v / A7 J‘,/ J /
A

vy o SET)HG)

Theesolu:lonsetls{—} (‘//( ’ﬁ /( /F ﬂ;/{ ) ﬁ( \_,»>

(Type an exact answer in simplified form. Use integers d:actiona for any numbers'in.the expression: UUse a ‘comma to

separate answers as needed.) (/s ( / / - (e)
Answer: In 2 (/ : & { / Z/)

vy 3&/6””)
bt ga (k=T
ID: 4.4.101 = Lﬁé?

P —““\ . = - ' _ t A b —
122. The formula T % - “‘—"“_‘E:) E; / - S ' /;,74&2— _I%_ -
D=10¢ ~06h ";‘ < /0 C_ (\:{__""C"’f} S = 4/,!;1/7}\ )
L R

can be used to find the number of milligrams D of a certain drug that is in a patient's bloodstream h hours after the drug
was administered. When the &mber of mllllgramirafghes 4, the drug is to,bzdmmlstered again. What is the time

between injections? N ( (/) — 4 //)
The time between injection(s ‘hour(s). | /& (’ s ) s P A 4

(Type an integer or a decimal rounded to two decaza /:Iaces\\as needed.) - - 7

nswer: (/ C — 05—57 2t :/' —\
Answer: 1.53 f\ ‘. %) K/( J.6 1,) ___/_3;1/?,?;__

r—»——f‘ 3 Fa

ID: 4.4.125 /Z{tﬂ—_() {4,&/’/ /3:3 /fc/om/(

123. Write the expression as a sum and/or difference of logarithms. Express powers as factors..

< a
log [X7 ] 7 s [}?dvé,
2\ x-7 )% :

//Uji (f’{]f;}l) a

7
log, [x 7] (Simplify your answer.)

Answer: 7 log ,x - log 5 (x = 7)

ID: 4.5.49

XF2

———-8/7/2019,10:19 AM
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124. Write the expression as a sum and/or difference of logarithms. Express powers as factors.

. /X
o] Lo (X)X L0
o , X
9[()”2) :| (-(”z' Z’) A
P v ( =
x(x+3)] . ((_Jj//\//f ‘(‘/f 3 ) — u) (x’( ~Z )
log { 6 ] — - (Simplify your answer.)
(x+2)

C &) ()((u (x,« )i p— (ﬂ(cf’(\/{) )

Answer: log x + Iog (x+3) 6Iog (x+2) ((/, F 1./ =2
omle. Lo @)Log-Lg)f (o @)= | i w2
ID: 4.5.51 ' ' x ' ' -4 3

125. Solve the following logarithmic equation.

log,(7x)=4

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A. The solution set is { }
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.)

() B. There is no solution.

16
7

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

Answer: A. The solution set is

ID: 4.6.7 G

89 of 100 ——
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boog (Ket) © Losy ( /)

126. Solve the logarithmic equation. -

log g(x+1)=logg11 )/,(/ 2 | 1

Determine the equation to be solved after removing the logarithm. )( -« (,, ( a ‘ - (

| )
(Type an equation. Do not simplify.) (/( “— / k)

I
Select the correct choice below and, if necessary, fill in the answer box to ccmplete your choice.
) (/g/f‘[) C_ (’é/)?(//
() A. The solution set is { 3.

(Simplify your answer. Type an exact answer. Use a comma to separate answers as

needed.) ’ ’ ' e
() B. There is no solution. ( {)})c* /} \ ) ('U :J‘} (/ ))
7

L
Answers x+1=11 (_,}k(f.r’ ’f/
A. The solution set is { 10 b (;t L’)) W

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

ID: 4.6.9-Setup & Solve = e e e

127. Solve the following logarithmic equation.
log x+ log (x+48)=2

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The solution set is { }
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.)

) B. There is no solution.

Answer: A. The solution set is { 2 b

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)
—1 =0 O o S

ID: 46.17

T i T R A A Koo —Sv=e=so
50;5//# ((_2/('7‘?{/ - _L Q ’(P'C/ [(/,'@ = eI
Cosbin=sy = /=0t 7 —

7% B ,{/:-n {U /gu)f(u/-—)()rw)"
/0 Z* X()(fyi} (U) ("W)—/(u f~ 2 = T

7d
[ = / YT Sy L --\@&;_5_&_/-~

0= x“evgx ~/07 M L A Ve Z)

Z ) (U = L -
0= (X —2)+ st (f% ¥ ({fj o
90 Ofl'U = _MZO]% 10:19 AM

b \ L
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(m YV —los K =7) o it
128. Solve the following logarithmic equation. P
¢ L) ‘{..’ o ]
log (5x+9)=1+ log (x-7) [ /ja X - 7) / 505/5 (7 "f } / T (*:)/7/ 7,)

Select the correct choice below and, if necessary, fill in the answer box to complete you@cholc!e Cr-d‘

’ Y, /,_, 5 X~ &»“)L/ ‘

) A. The solution set is { } ] X— 7 l — ; -
(Simplify your answer. Type an exact answer. Use a comma to separate answers as L =
needed, /0 (/L—/) = | (¢ 1) é \

() B. There is no solution. /0 {__ Y0= 71 =

/U( /;/1,) SRS b
144 _./U/( Sy ~7¢7‘1
- /o x~sif = ST 753X

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.
X <79
- Y
ID: 4.6.19 JoI8 Z
e == . = ¢

129. Solve the logarithmic equation. /U ‘ /./‘f: V’. ) ’—(_ (c/)t | //‘/-_f /) ) 5 / {f !V'”‘ /‘f
log 4(x+4)=1-log 4(x+7) /{’/ )(/( 7){‘ {
) A+

Determine the equation to be solved aﬂer ren{ovl ing ge logarithm.

| o G s @rd( ()

(Type an equation. Do not simpilify.)

Answer: A. The solution set is

Select the correct choice below and, if necessa 5 fill in the answer box to complete your choice.

() A The solution set is { % X -t ?)(_‘/(/‘/ /7 i

(Simplify your answer. Type an exact answer. Use a comma to separate answers as

needed. (_f )( .74/ X~ 2 a/

() B. There is no solution. C) / /( e 2 /
- , e S
Answers (x +4)(x +7)=4 O — )( —f / /(—-/ Ve %
A. The solution set is { -3 b 0= (/( " o j) 6( )

(Simplify your answer. Type an exact answer. Use a comma to separate answars as needed

AU YF 3=

ID: 4.6.23-Setup & Solve

910f100 754 D LAY T, 10:19AM
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130. Solve the following exponential equation. Express irrational solutions in exact form and as a decimal rounded to three
decimal places.

6* %=36
What is the exact answer? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

A. The solution set is { }

(Simplify your answer. Type an exact answer.)

B. There is no solution.

What is the answer rounded to three decimal places? Select the correct choice below and, if necessary, fill in the answer
box to complete your choice.

A. The solution set is { }
(Simplify your answer. Type an integer or decimal rounded to three decimal places as
needed.)

B. There is no solution.

Answers A. The solution set is 8 }.(Simplify your answer. Type an exact answer.)

A. The solution set is { 8.000 }

(Simplify your answer. Type an integer or decimal rounded to three decimal places as needed.)

ID: 4.6.41 5 :
é ? &
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131. Solve the following exponential equation. Express irrational solutions in exact form and as a decimal rounded to three
decimal places.

8x =7 /
/
. What is tHe exact answer? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
A. The solution set is { }

(Simplify your answer. Type an exact answer.)

B. There is no solution.

What is the answer rounded to three decimal places? Select the correct choice below and, if necessary, fill in the answer
box to complete your choice.

(2 A. The solution set is { }
(Simplify your answer. Type an integer or decimal rounded to three decimal places as
needed.)

B. There is no solution.

In7

Answers A. The solution set is ns | .(Simplify your answer. Type an exact answer.)

A. The solution set is { 0.936 13

(Simplify your answer. Type an integer or decimal rounded to three decimal places as needed.)

ID: 4.6.43 /} (/

(7)) = / (7)

1% z;ffi / ‘7)

P g {:(};/ H\ ///%: 02’ 5/?(/ - 3

- ( - 9« 357 YS’ 77V e

93 of 100 e T BI7R01YTOI9AM
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132. Solve the following exponential equation. Express irrational solutions in exact form and as a decimal rounded to three

decimal places. / /Z ‘V)) [ (
27%=25 —y{: 6\._.; (”() . (k (' /« 5 ’]

What is the exact answer? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. ‘}&M f_// f 24 S )

() A The solution setis { ( (. 0‘_,(2)) (~( [iq (d>)

(Simplify your answer. Type an exact answer)

() B. There is no solution. /( “"( } C / "l Z //U ) t}’

",
What is the answer rounded to three decimal places? Select the correct choice below and, if necessary, fill in the answer

box to complete your choice. ( ) L_ /2
OLM«//

() A. The solution set is { .
(Simplify your answer. Type an mteger or decimal rounded to three decimal places as __ ————
needed.) /’/,J-l

() B. There is no solution. Q( X ( 3 ¢ L ‘ /n

e ——

Answers A. The solution set is { = log,2.5 }.(Simplify your answer. Type an exact answer.)

A.The solution setis {  -1.322 .

(Simplify your answer. Type an integer or decimal rounded to three decimal places as needed.)

ID: 4.6.45

133. Find the amount that results from the given investment. /7 /‘/ / / "f / / P_: _f_'va

K - 7Y% 0¥

$500 mvestée at 8% compounde:{quarteriy alter a period df 3 years _ 0 )

) 1
After 3 years, the investment results in $| A = 3 w
(Round to the nearest cent as needed. Af A GZWN'U/

. —)A} = SA (/f d‘%{) (jb: ; NIy
Answer: 634.12 Cf ﬂ = é 3(?/, /Z 07:) 75 _

A

P A g3z ) /3‘“* £ e

134. Find the amount that results from the given |nvestment S _;J\_ )
™ P Ll od—
(‘ $200 mvestedQ 12% cempoundedf.quarterty after a period @ years AL f
y - | 22
: . - L A= # ( / :
After 4 years, the investment results in $ (" |
2 ; /Z 4’ (%+) L
(Round to the nearest cent as needed.) / L)U ({ 7 ) e WY
/“/_iy:é(—\tﬂhf
Answer: 340.49 Az 20 (’/r;‘ A2/ C/) (_ & {
e = F_’_ = c“. = . = e = z .
( f"q - 39/(7@ ///[6‘//( : bl
ID: 4.7.9 = - — CAY
— A e

(’f YR

940f 100 ' 8/7/2019, 10:19 AM




finalm13 14COCO0147sulllljjRZ-Alfredo Alvarez htrps ﬁxlllempmd pearsoncmg.com/api/v1/print/math

)” y

135. Find the amount that results from the gi’ven investment, A /" /" / ) P D
$400 I/rwested at 8% mmpound{da}]& after a period tt yga% ,7,0 . f // V- 0 ¢ 22,0 D/ )
After 4 years, the investment results in § 3 & A= 3 (. J{b \3

(Round to the nearest cent as needed.) / ]~ Cf‘ 7y / /"i" ¢ tzﬁ", /¥ ( L{
R e £ = &f

Answer: 550.83 (ﬁigr@ fg/ 73 /f\
orl

ID: 4.7.11

136. How many years will it take for an initial investment of $20 000 to grow to $70,0007? Assume a rate of mte -gpt of 4%

~—tompounded continuously. ~ - 4 /{‘) ~ 700U
A
it will take about | | years for the investment to grow to $70,000. /ﬂ 8 ‘—),/ .
(Round to two decimal places as needed.) 7, s00 =/ o ()w e OF ( 2 FY=L0Y
!Z ()(/J . 'ZU e ( %/3’3)‘ ’O(Ié
Answer: 31.32 2ION T S S S0 /L\ (3, $) =, ()(f{—

3e¢ = C’C""( Cl3.T) = 1086
"“f'\_\__‘__

| v = e’ _28ox
ID: 4.7.41 ,5\(5”) -"«of{gdffo/)r} 3/ 5/702"7’(/_#51#

——ﬁ_—_ ——

137. What will g $200,000 house oo{ }Bérs from now if the price appreciation for homes over that period averag js 5%_4_1
(&:mpoun etl”a'nnually? A //;( /_{ [) /D g .‘/00 0

The future cost of the house will be $ /(7) =3V ‘--
(Do not round until the final answer. en round to the nearest cent as niﬁdjd J) ( 7

,4 /ucm 02 ([~
4200,09 ([ US/r)

ID: 4.7.43 Q 2%;777 /7 gﬂﬁ/( - 293_97%%

138. Jerome will be buying a used car f{mDOO lr\Gy?ars How much money should he ask his parentsrgr no su.lhat if

-

Answer: 245,974.77

-——

he invests it at 10% compounded continuously, he will have enough to buy the car? 4 / g0 »
Jerome should ask for § ﬁ /() 6(2) /ﬂp
(Round to the nearest cent as needed) = /9 (4_3

- 4 2/'9 .é = Q—:f'

Answer: 9,006.04

ﬂ//auu r C’/d r=[{ve <

ID: 4.7.45 f// OUuU - f/ﬁ_ (@
6,20 (.,ga o o

W@'>Yai‘f <€

o
G006, 0/‘7’//*5'{ 0w

9softoQ____ 8/7/2019, 10:19 AM -
19,10:19 AM.
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139. Trish investgﬁﬁgnfin’ her IRA in a bond trust that payi:iz) interest compounded ¢ rqi_gngggjlyf Sean in_v&s;s\SS.OOO in
his IRA in a certificate of deposit that pays 11.7% compounded continuously. Who has more money aftet 20 years, Trish
or Sean? &

After 20 years, Trish will have $ l (Round to the nearest cent as needed.)

After 20 years, Sean will have $_' . (Round to the nearest cent as needed.)

After 20 years, (1) I ' will have more money.

AL
(1) O Trish

A
() Sean /4};5 /( /’f- 7{; } : Z, [’L‘))
Answers 61,714.31 A . 6.(‘:)0 O( { t GLLL) )

62,287.42 . -74( =
(1) Sean A -9 OOO (( 3 '—/E—/_?_'Z_____
=45 |7 /Ve 306767 3 ‘

ID: 4.7.51

/4 -Tﬂ@0u-’ €
\g] HG2 257, %/1% % \)
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140.

O0O<LC
T P ey = 5
The size P oface m nsec_:&g_pulatton‘at time t (in days) obeys the function P(t) = 800 . 47&/ &/C)U c Gl )
(a) Determine the number of insects at t = 0 days. //0/ /(/U
(b) What is the growth rate of thednsect population?” /
(c) What is the population after 10 days? 9 < foo (’
(d) When will the ifsect population. Q‘Z_— = ‘b | e
(e) When will the insect populatiori double? "\L a //(0/ b=l /d"} ( U
(a) What is the number of insectth@g};? /f 7) = 5700 1‘«.’.@#_/-!)
_ : 1wz Yoo C "
| insects
Flw = foo C "
(b) What is the growth rate of the insect population? C//r(— = < 37’7(7’
% C. at A1) A
(c) What is the population aftér 10 days? (’__75_(;;,_
Approximately '; IAsects. 1 ./ ¢ ':,:,J . -
(Do not round until the final answer. Then round to the nearest whole number as needed.), A 03¢
1 1v 5= (/’

(d) When will the population reacﬁ@éds? /Z ( L s ) /ﬁj / V2 074)
| tel d /s
n approximately ays. d.)'/é'( /G 5,} — s O 36’/&"&

(Do not round untlI the final answer. Then round to the nearest tenth as nee
(<€)= 0 V3 €0/

—J-0¢ _
(e) When will the insect populatio double? /é ( { 5 ) V J &
= Aud
/ Z € (Al o Q,,é/.éf ‘7{/5

In about days.
¥ ¢ VJ

Lﬁ)o not round until the final-answer. Then round toéchc;maréest tenth as iee‘ﬁeﬂ‘ - Ul 2 ;-’ 3”3@’ 2
. - & N &3
DG)V\ l600= Foo & ¢ 014 - . Q\{‘m L0
fwe g €T edu)ly K
N - éw clu l ]
1080 003 & e dunl 2L

141.

Y

/&(l)“ﬂ( @ﬂoé%“‘é )

:/\ _ gwé%f/
/(Z)

c} o3¢/ /

Th¢ half-life'of carbon-14 is600 years.
carbon-14 expected in living matter, when did the tree dle'7

L/ =
The tree died about years ago.
(Do not round until the final answer. Then round to the nearest«who!é numbar)

/5= /(/U(L vy %(«7)) - #— (.
73 /W—QL) - /Z-»(I/z,) dha N

Answer: 2324

£[275) = W zzw.zwaﬂ"ij)”
/ZL( 7¢) %@L
97 of 100 V’l,

—

ID: 4.8.11 S L Foo }m WQQ/(Z\ (,7{)_ - 3B _£,_
A(a5)= /L\() it e

W @/’) ‘ﬁ 8712019, 1I019AL_.:

\._,--ﬂ\__/r-\_,"\.,/’x-/““" [
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142, After the release of radioactive material into the atmosphere fram.a nuclear power plant in a country in 1994, the hayif
that country was contaminated by a radioactive isotope | (half-llzﬁg\d;ys} If it is safe to feed the hay to cows when, 11% of
the radioactive isotope remains, how long did the farmers nee wait to use this hay?

/
The farmers needed to wait apprOX|mater days for it to be safe to feed the hay to tﬁe COWS.
(Round to one decimal place as needed) ; ///) / /// € h&) _é_-
nswer: 15. P (/ é / ﬁ._,} / //) e 5, K / i}) {5 'f (/f),__ [/{
v ietd /Ofi, /.f- L ?,//; (%) [ (%>
ID: 4.8.21 ( /J qu_ [ Zé{é C

N ) e LT

[ . e —

VT ot m—— Kt /‘%’ =
anhlb:ted growth\can be modeled by exponential functions other than A(t) =Age . For ex n mltlal populatton
Q ceh AClompl t

Pg requires n units of time 1o trlplei then the function P(t) = P0(3) models the size of the population at time t. An insect
population grows exponentua'ﬂy Complete the parts a through d below.

e
(a) If the population triples m@ﬂ days an{SO msects are present initially, write an expanentlal function o/;he form
t .

Pt)= P0(3)n that models the population. d /’) 30 \(_///
P() = - -3 (’3-,,_,_4*;-\_ =
N 4 er— ¢t 7
(b) What will the population be {47??3? — " - 7=
- s - "U ( )
The population in 47 days will be | . / 7y =0 } (56666
(Round to the nearest integer as needed.) o
< A1)z SO ( 3)
(c) When will the population reach 8007 * ( 7) \
== C
The population will reach 800 in | days. uo(‘( 7 ) = 2= 7 7“ §' /i& 7 ;
(Round to one decimal place as needed.) C H‘/

(d) Express the model from part (a) in the form A(t) = Aj e z/ //’( ({ ) z 7@ ﬁ v (

“\.%___\_'—'_

P(t)_.—l =l e —————— .
(Use integers or decimals for any numbers in the expression. Round to three decimal places as needed.)
Answers t 3 75 - s ’
50(3) %0 8 T SO ( -kf 20 A ”EJ L 75
= U) xG)
280 J — = ‘(L) [ s

75.7 L (j")}/;"](/‘(]"é\

50 ¢ 0-037t / [3 / ),_) _.

_ masass A1) = K
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144, Solve the system of equatlons Ifthe em has no solutlon say that it is inconsistent. —; (;/ ) z, c/
)f —~— &7 = Y o 3
4x -2y=4 i e (—-&7 -7 )(
L 2 = V -4 (
_ 7 X~ ) = :
10x+y =22 - _ { g>,/
24K 0= XD - T
Select the correct choice below and, if necessary, fill in any answer boxes within your choice. %( 7 /
. Y(2)—2y =
(_) A. The solution of the system is x = andy=

7TE 1'7 ol
. R 2 g~ A < (/'” f
() B. There are infinitely many solutions. Using ordered pairs, the solution can be writteh as /

{(X,Y)|X= .y any real number}. — g = —Y¥
(Simplify your answer. Type an expression using y as the variable as needed.) —2% <

Answer: A. The solution of the systemisx=_ 2 andy= e

Y =)

s e ——— e e — — ——

(Type an integers or simplified fractions.)

() €. The system is inconsistent.

(Type an integers or simplified fractlons )

145. Solve the given system of equations. If the system has no solution, say that itis in jstent. ] ,\/
21/ ¥ f’c*mz‘ = ejrjf ;/ 4

XxX=-2y +3z= 14
2x+ y+ z= -2 3 ed
-3x+2y~-2z= -6 [/‘ \ Z / "’9
= Z—-—(}
Select the correct choice below and fill in any answer boxes WIthln your choice.

() A. The solution is x = VY= ,andz= . (Type
integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= Y= , 2 any real number}.

(Simplify your answers. Type expressmns usmg z as the variable as needed. )

() €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x ¥,2) | x=  ,yanyreal number, z any real number}
(Simplify your answer. Type an expression using y and z as the variables as needed.)

) D. The system is inconsistent.

Answer: A.
The solution is x = -2 WY= -2 ,andz= 4 . (Type integers or simplified

fractions) 7
2y, poitris , prcds [ = ore AT

ID: 6.1.45 f';/ £ f ))
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146. erte W[ﬁ{ five terms of the sequence.

el
Type the first five terms of the sequ ﬂce :njﬂ sumenz1. 7~ /
aq= ' (Simplify your a = l’f’ 5 (( /

ap = | (Slmpllfy your answer.)
= 4 7 z
ag=| | (Simplify your answer.)
az= | (Simplify your answer.) a‘
ag = | (Simplify your answer.) C./
— ————
Ay = Gr2
Answers 1
4
2
5
1
2
4
7
5
8
ID: 7.1.17
e

2 = e T . (_,{_jf f"c/f,-b (_(_f('@i»
147. @ expression usin lh ormai T?orem L~ , i =
@Gp+1)* (// M\J, /f’/(/) 14(/'/ i le // fon [o -
Y & /] Ve v /7(}' ol Z Con e & Q
(Bp+1) = / I(S:m}:t? yau/g,n/?\@/)”( V) .y y, 3/ r:, 2 = >
‘( }'H«JC, 2 KB, Nev, ., 7 c//_ﬂtld, - /

Answer: gqp +108p3+515277'2ﬁ”—’ 3 iy B

y—
ID:7.521 4 & ()""/‘)"7 ~C'(3’;Z(/ =3 C (3/7)/0 ﬁ C@’y(()'?' Cf%/j\

)TN+ w/f)-f/)( 551+ /f')m/(r){)/)(,) _
(/)/ 3l ‘9/ ) ff/// 27y MQU’JMW( 0 (D) =

Fir (08 g S5 rrpr] N
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